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	 1.	 fuEu esa ls dkSu laizs"k.k dk vfHky{k.k ugha gS\

	 (A)	 laizs"k.k f}ekxhZ çfØ;k gSA

	 (B)	 laizs"k.k vxzxeuokyh çfØ;k gSA

	 (C)	 laizs"k.k fLFkj izfØ;k gSA

	 (D)	 laizs"k.k xR;kRed izfØ;k gSA

	 2.	 e
	 (A)	 e

	 (B)	 r

	 (C)	 u

	 (D)	 d

	 3.	 fuEu esa ls fdldk lacaèk vkbZ dkWUVsDV ds vè;;u ls 
gS\

	 (A)	 çksDlsfeDl

	 (B)	 vkWD;qysflDl

	 (C)	 gSifVDl

	 (D)	 dkbusflDl

	 4.	 e
	 (A)	 e

	 (B)	 r

	 (C)	 u

	 (D)	 d

	 5.	 e
	 (A)	 e

	 (B)	 r

	 (C)	 u

	 (D)	 d

	 1.	 Which of the following is NOT a feature of 
communication?

	 (A)	 Communication is a two-way process.
	 (B)	 Communication is an ongoing process.
	 (C)	 Communication is a stagnant process.
	 (D)	 Communication is a dynamic process.
	 2.	 Fill in the blanks with correct Preposition from the 

choice:
	 (i)	 Harsha was standing ________ Swapna.
	 (ii)	 Madhu plays Tennis________Chess.
	 (iii)	 Share the cake ________ the two of you.
	 (iv)	 He divided the property _______ his four 

sons.
	 (a)	 besides	 (b)	 between
	 (c)	 among	 (d)	 beside
	 (A)	 (i)-(a), (ii)-(b), (iii)-(c), (iv)-(d)
	 (B)	 (i)-(d), (ii)-(a), (iii)-(b), (iv)-(c)
	 (C)	 (i)-(c), (ii)-(b), (iii)-(d), (iv)-(a)
	 (D)	 (i)-(b), (ii)-(a), (iii)-(d), (iv)-(c)
	 3.	 Which of the following refers to the study of eye 

contact?
	 (A)	 Proxemics	 (B)	 Oculesics
	 (C)	 Haptics	 (D)	 Kinesics
	 4.	 Match the following parts of speech:
		  List I		  List II
	 (a)	 Absence	 (i)	 Verb
	 (b)	 Busy	 (ii)	 Adverb
	 (c)	 Develop	 (iii)	 Adjective
	 (d)	 Greatly	 (iv)	 Noun
		  Choose the correct answer from the options given 

below:
	 (A)	 (a)-(iii), (b)-(ii), (c)-(i), (d)-(iv)
	 (B)	 (a)-(i), (b)-(iv), (c)-(iii), (d)-(ii)
	 (C)	 (a)-(ii), (b)-(iv), (c)-(i), (d)-(iii)
	 (D)	 (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)
	 5.	 Fill in the blanks with the correct verb that agrees 

with the subject in the following sentences:
	 (i)	 Each student ________ informed about the 

cultural programme.
	 (ii)	 Neither Ravi nor I ________ any interest in 

this project.
	 (a)	 was	 (c)	 has
	 (b)	 were	 (d)	 have
	 (A)	 (i)-(a), (ii)-(d)	 (B)	 (i)-(b), (ii)-(c)
	 (C)	 (i)-(a), (ii)-(c)	 (D)	 (i)-(b), (ii)-(d)
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	 6.	 yksxksa ds lewg ds eè; lekU;r;k LohÑr vfHker ;k 
fu.kZ; gksrk gSµ

	 (A)	 vuqu;

	 (B)	 ijØke.k@okrkZ

	 (C)	 erSD;

	 (D)	 ifjppkZ

	 7.	 fuEu of.kZr lHkh dkS'kyksa dks varoSZ;fDrd dkS'ky ds 
:i esa mfYyf[kr fd;k gS flok; dhµ

	 (A)	 e`nq dkS'ky	 (B)	usr`Ro dkS'ky

	 (C)	 laizs"k.k dkS'ky	 (D)	 dBksj dkS'ky

	 8.	 ,d dkj dh pkj vadksa dh la[;k bl izdkj gS] fd 
bldk dksbZ Hkh vad 0 ugha gSA ;fn vki nwljs ;k pkSFks 
vad dks gVkrs gSa] rks ifj.kkeh rhu vadksa dh la[;k 
,d iw.kZ oxZ gksrh gSA ;fn vki igys vad dks gVkrs 
gSa] rks ifj.kkeh rhu vadksa dh la[;k ,d foyksein 
(iSfyUMªkse) gksrh gSA la[;k esa dksbZ Hkh vad nks ckj ls 
vfèkd nkssgjk;k ugha tkrk gSA tc dkj dh la[;k ds 
oxZ dks 5 ls foHkkftr fd;k tkrk gS] rks D;k 'ks"k cprk 
gS\

	 (A)	 1	 (B)	 3
	 (C)	 4	 (D)	 2
	 9.	 uhps vuq:irkvksa dk ,d lsV fn;k x;k gSA buesa ls 

dkSu&lh vuq:irk,¡ mi;qDr ugha gS\

	 (a)	 egklkxj % iz'kkar %% unh % uhy
	 (b)	 izkf.k foKku % i'kq %% dkfMZ;ksykWth% efLr"d

	 (c)	 Úkal % ;wjksi % phu %% vkWLVªsfy;k

	 (A)	 dsoy (b)	 (B)	(a) vkSj (c) nksuksa
	 (C)	 (b) vkSj (c) nksuksa	 (D)	 dsoy (c)
	 10.	 uhps vuq:irkvksa dk ,d lsV fn;k x;k gSA buesa ls 

dkSu&lh vuq:irk,¡ mi;qDr gSa\

	 (a)	 vHkkT; I %% HkkT; % 8
	 (b)	 isMksykWth % feV~Vh %% tulkaf[;dh % tula[;k

	 (c)	 vkdk'k % ckny %% ugj % ioZr

	 (A)	 dsoy (b)	 (B)	(a) vkSj (b) nksuksa
	 (C)	 (b) vkSj (c) nksuksa	 (D)	 dsoy (c)
	 11.	 nh xbZ o.kZekyk  Ük`a[kyk esa vxys nks in dkSu&ls gksaxs 

% bbCCC, cccEE, eeHHH, hhhLL, ........, .......... ?
	 (A)	 IIPPP ,oa qqqVV	 (B)	 IIIQQ ,oa qqWWW
	 (C)	 IIQQQ ,oa qqqWW	 (D)	 IIIPP ,oa qqVVV
	 12.	 nh xbZ o.kZ  Ük`a[kyk esa 9ok¡ in dkSu&lk gksxk % zYw, 

xWu, vUs, tSq, ................ ?
	 (A)	 he	 (B)	 jlg
	 (C)	 mOk	 (D)	 fTp

	 6.	 A generally accepted opinion or desision among a 
group of people is:

	 (A)	 Persuasion	 (B)	 Negotiation
	 (C)	 Consensus	 (D)	 Discussion
	 7.	 All the skills mentioned below are referred to as 

Interpersonal skills EXCEPT ________.
	 (A)	 Soft skills
	 (B)	 Leadership skills
	 (C)	 Communication skills
	 (D)	 Hard skills
	 8.	 A car has a four-digit number, such that none of 

its digits is 0. If you remove second or fourth digit, 
resultant three-digit number is a perfect square. If 
you remove first digit, resultant three-digit number 
is a palindrome. No digit in the number is repeated 
more than twice. What is the remainder left when 
square of the car number is divided by 5?

	 (A)	 1	 (B)	 3
	 (C)	 4	 (D)	 2
	 9.	 Below are given a set of analogies. Which of these 

analogies are NOT appropriate?
	 (a)	 Ocean: Pacific :: River: Nile
	 (b)	 Zoology: Animals :: Cardiology: Brain
	 (c)	 France: Europe :: China : Australia
	 (A)	 Only (b)
	 (B)	 Both (a) and (c)
	 (C)	 Both (b) and (c)
	 (D)	 Only (c)
	 10.	 Below are given a set of analogies. Which of these 

analogies are appropriate?
	 (a)	 Prime : 1 :: Composite : 8
	 (b)	 Pedology: Soil :: Demography: Population
	 (c)	 Sky: Cloud :: Canal : Mountain
	 (A)	 Only (b)	 (B)	 Both (a) and (b)
	 (C)	 Both (b) and (c)	 (D)	 Only (c)
	 11.	 "What would be the next two terms in the given 

alphabetic series: bbCCC, cccEE, eeHHH, 
hhhLL,.........., ..........?"

	 (A)	 IIPPP and qqqVV
	 (B)	 IIIQQ and qqWWW
	 (C)	 IIQQQ and qqqWW

	 (D)	 IIIPP and qqVVV
	 12.	 "What would be the 9th term in the given alphabetic 

series: zYw, xWu, vUs, tsq, .................... ?
	 (A)	 he	 (B)	 jlg
	 (C)	 mOk	 (D)	 fTp
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	 13.	 uhps ,d osu vkjs[k fn;k x;k gSA lkekU; fo'okl pkgs 
tks Hkh gks] osu vkjs[kksa esa fn;s x, fp=k.kksa dks lgh ekuk 
tkuk pkfg;sA bl vkjs[k ds vkèkkj ij fn;s x, dFkuksa 
esa ls ftl dFku dk lgh gksus dh laHkkouk gS] mldk 
p;u dhft,A

		 dFku A % dqN fLVdlZ 'khV gSa
	 	dFku B % dqN fLVdlZ eSV~l gSa
	 	dFku C % dksbZ 'khV eSV ugha gSa
	 	dFku D % dqN dkisZV~l 'khV gSa

eSV dkisZV~l
'khV

okyisilZ

fLVdlZ

okyisilZ

	 (A)	 dsoy dFku A, B vkSj C
	 (B)	 dsoy dFku A, B vkSj D
	 (C)	 dsoy dFku A, C vkSj D
	 (D)	 dFku A, B, C vkSj D lHkh
	 14.	 uhps ,d osu vkjs[k fn;k x;k gSA lkekU; fo'okl pkgs 

tks Hkh] osu vkjs[kksa esa fn;s x, fp=k.kksa dks lgh ekuk 
tkuk pkfg;sA bl vkjs[k ds vkèkkj ij fn;s x, dFkuksa 
esa ls ftl dFku dks lgh gksus dh laHkkouk gS] mldk 
p;u dhft,A

		 dFku A % dqN egklkxj ugjsa gSa
		 dFku B % dksbZ unh >hy gS
		 dFku C % dqN egklkxj gSa] mlh le; unh] rkykc  

vkSj ugj gSa
		 dFku D % lHkh >hysa rkykc gSa

ugj

rkykc
egklkxj

unh

>hy

	 (A)	 dsoy dFku A vkSj C
	 (B)	 dsoy dFku A vkSj B
	 (C)	 dsoy dFku C vkSj D
 	 (D)	 dsoy dFku A, B vkSj C
	 15.	 uhps ,d vkÑfr nh xbZ gS] ftlesa ,d ?kksM+s dks 5 × 

5 vkdkj ds oxkZdkj fxzM ds fdlh ,d ckWDl ij j[kk 
x;k gSA ?kksM+k ,d gh pky esa fuEufyf[kr esa ls fdlh 
Hkh rjhds ls py ldrk gS%

	 (i)	 nks [kkus ;k rks ck;ha vksj ;k nk;ha vksj vkSj ,d 
[kkuk Åij ;k uhps dh vksj

	 (ii)	 nks [kkus ;k rks Åij ;k uhps dh vksj ,d [kkuk 
;k rks cka;h vksj ;k nk;ha vksj

	 13.	 Below is given a venn diagram. Irrespective of 
what normal belief is, the depictions in the venn 
diagrams are to be considered correct. Based on 
this diagram, select which of the given statements 
have a possibility of being true.

		  Statement A : Some stickers are sheets
		  Statement B : Some stickers are mats
	 	 Statement C : No sheets are mats
	 	 Statement D : Some carpets are stickers

		

Mats
Carpets Sheets

Wallpapers

Wallpapers

Stickers

	 (A)	 Statements A, B and C only

	 (B)	 Statements A, B and D only

	 (C)	 Statements A, C and D only

	 (D)	 All Statements A, B, C and D

	 14.	 Below is given a venn diagram. Irrespective of 
what normal belief is, the depictions in the venn 
diagrams are to be considered correct. Based on 
this diagram, select which of the given statements 
have a possibility of being true.

		  Statement A : Some oceans are canals
		  Statement B : No rivers are lakes
		  Statement C : Some oceans are there which are 

river, pond and canal at the same time.
		  Statement D : All lakes are ponds"

		

Oceans
Rivers

Lakes

Ponds

Canals

	 (A)	 Statements A and C only

	 (B)	 Statements A and B only

	 (C)	 Statements C and D only

	 (D)	 Statements A, B and C only

	 15.	 Below is given a figure, in which a horse is placed 
on one of the boxes in a square grid of size 5 × 5. 
The horse can move in either of the following ways 
in a single move:

	 (i)	 two boxes to either left or right side and one 
box to either up or down side

	 (ii)	 two boxes to either up or down side and one 
box to either left or right side
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	 (iii)	 the horse cannot step on a grey box. The 
horse has to stay within the grid and any 
move to out of the grid is NOT legal.

		  How many white boxes are there which cannot be 
covered by horse within 3 moves?

		
	 (A)	 0	 (B)	 1
	 (C)	 3	 (D)	 5
	 16.	 How many triangles are there in the given figure?

	 (A)	 4	 (B)	 6
	 (C)	 8	 (D)	 9
	 17.	 In a coding scheme, each letter in a word is written 

as a letter after shifting N positions ahead in 
English alphabet, where N is the number of vowels 
present in the word. For example, BAT has only 
one vowel, so it will be coded as CBU. A five letter 
word LOUIE is taken. It is coded according to this 
scheme. The resultant is again coded as per this 
scheme, and so on, this process is repeated for 10 
times. What will be the final coded word obtained?

	 (A)	 HOYPX	 (B)	 PSAMJ
	 (C)	 SNJZK	 (D)	 QTZNJ
	 18.	 "In a coding scheme, a word is coded as product 

of positions of its letters in English alphabet. 
However, for the purpose of calculating product, 
only unique letters are considered, For example, 
in word FELL, L would be considered only once, 
and code would be 360. Which of these words 
would have largest code?"

	 (A)	 ACACIA	 (B)	 BASS
	 (C)	 SHY	 (D)	 DADDY

	 (iii)	 ?kksM+k Hkwjs (Grey) [kkus esa iSj ugha j[k ldrkA 
?kksM+s ?kksM+s dks fxzM ds Hkhrj jguk gksxk vkSj fxzM ls 
ckgj tkus ds fy;s dksbZ Hkh pky dkuwuh ugha gSA

		 ,sls fdrus liQsn [kkus gSa ftUgsa 3 pky esa ?kksM+s }kjk 
doj ugha fd;k tk ldrk gS

	 (A)	 0	 (B)	 1
	 (C)	 3	 (D)	 5
	 16.	 nh xbZ vkÑfr esa fdrus f=kHkqt gSa\

	 (A)	 4	 (B)	 6
	 (C)	 8	 (D)	 9
	 17.	 ,d dksfMax ;kstuk esa fy[ks x, ,d 'kCn ds izR;sd 

v{kj dks ekud vaxzsth o.kZekyk  Ük`a[kyk ds vuqlkj N 
LFkkuksa ij vkxs f[kldkdj fy[kk tkrk gS] tgk¡ N] 'kCn 
esa ekStwn Lojksa dh la[;k gSA mnkgj.k BAT esa dsoy 
,d Loj gS] blfy;s bls CBU ds :i esa dksfMr fd;k 
tk,xkA bl ik¡p v{kj dk 'kCN (LOUIE) fy[kk tkrk 
gSA bls bl ;kstuk ds vuqlkj dksfMr fd;k x;k gSA 
ifj.kke dks fiQj ls bl ;kstuk ds vuqlkj dksfMr fd;k 
tkrk gS vkSj blh rjg bl izfØ;k dks 10 ckj nksgjk;k 
tkrk gSA bl izdkj dksM fd;k gqvk vafre 'kCn dkSu&lk 
gksxk\

	 (A)	 HOYPX	 (B)	 PSAMJ
	 (C)	 SNJZK	 (D)	 QTZNJ
	 18.	 ,d dksfMax ;kstuk esa ,d 'kCn dks] mlds v{kjksa dks 

vaxzsth o.kZekyk esa muds LFkkuksa ds xq.kuiQy ds :i 
esa dksfMr fd;k tkrk gSA gkykafd] mRikn dh x.kuk ds 
mn~ns'; ls dsoy vf}rh; v{kjksa dks gh fy;k tkrk gS] 
mnkgj.kLo:i 'kCn FELL esa L dks dsoy ,d ckj 
ekuk tk,xk vkSj bldk dksM 360 gksxkA buesa ls fdl 
'kCn dk dksM lcls cM+k gksxk\

	 (A)	 ACACIA	 (B)	 BASS

	 (C)	 SHY	 (D)	 DADDY
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	 19.	 Ng eghuksa ds ,d ifjokj esa nks iq#"k gSa vkSj 'ks"k 
efgyk,¡ gSaA lnL; P, Q, R, S, T vkSj U gSaA ifjokj 
esa firk vkSj iq=kh ds nks tksM+s gSaA S, Q dh iRuh gSA R 
vkSj Q lgksnj gSaA P, T dh iRuh gSA U, S dh iq=kh ugha 
gSA uhps dqN dFku fn;s x, gSaA nh xbZ tkudkjh ds 
vkèkkj ij dkSu&lk@ls dFku fuf'pr :i ls lgh gS@gSa] 
pqfu,A

	 A :	 ifjokj ds nks iq#"k lnL; Q vkSj T gSaA

	 B :	 S, P dh ekrk gSaA

	 C :	 T, Q dk ,d lgksnj Hkh gSA

	 D :	 T, Q ds pkpk gSaA

	 (A)	 dsoy A lgh gS

	 (B)	 dsoy A vkSj B lgh gSa

	 (C)	 dsoy A, B vkSj D lgh gSa

	 (D)	 dsoy A vkSj C lgh gSa

	 20.	 ekyk gjh'k dh cgu gSA gjh'k dh nks csfV;ka gSa% jhek 
vkSj lhekA jhek dh 'kknh lrh'k ls gqbZ gSA js[kk lrh'k 
dh ekrk gSA uhps dqN dFku fn;s x, gSaA nh xbZ tkudkjh 
ds vkèkkj ij pqusa fd dkSu&lk@ls dFku fuf'pr :i 
ls lgh gS@gSa\

	 A :	 jhek js[kk dh Hkrhth gSA

	 B :	 js[kk] lhek dh lkl gSA

	 C :	 ekyk js[kk dh cgu gSA

	 (A)	 dsoy B lgh gS

	 (B)	 dsoy A vkSj C lgh gSa

	 (C)	 rhuksa dFku lgh gSa

	 (D)	 rhuksa esa ls dksbZ Hkh dFku lgh ugha gS

	 21.	 fn;s x;s fp=k esa fn[kk, x, ds leku pkj lqj{kk xkMZ 
A, B, C, D ,d Hkou ifjlj ds pkjksa dksuksa ij M~;wVh 
ns jgs gSaA dqN l;e ckn A vkSj C ijLij viuk LFkku 
cny ysrs gSaA fiQj B vkSj D frjNs foijhr dksuksa dh 
vksj c<+rs gSaA vkSj fiQj B vkSj D izR;sd Øe'k% ,d 
rjiQ nf{k.k nf{k.kkorZ vkSj okekorZ pyrs gSaA D vkSj 
A fiQj nks vksj Øe'k% okekorZ vkSj nf{k.kkorZ tkrs gSa 
C dh orZeku fLFkfr D;k gS\

		

A

B

C

D
	 (A)	 D ds lkeus frjNs	 (B)	B ds lkeus frjNs

	 (C)	 D ds ck;ha vksj	 (D)	 A ds nk;ha vksj

	 19	 In a family of six persons, two are males and 
remaining are females. The members are P, Q, R, 
S, T and U. There are two pairs of father and 
daughter in the family. S is wife of Q. R and Q are 
siblings. P is wife of T. U is NOT daughter of S. 
Below are given a few statements. Based on the 
given information, select which of the statements 
is/are definitely true.

		  A : The two male members of family are Q and T.
		  B : S is mother of P.
		  C : T is also a sibling of Q.
		  D : T is uncle of Q.
	 (A)	 Only A is true
	 (B)	 Only A and B are true
	 (C)	 Only A, B and D are true
	 (D)	 Only A and C are true
	 20.	 Mala is sister of Harish. Harish has two daughters: 

Reema and Seema. Reema is married to Satish. 
Rekha is mother of Satish. Below are given few 
statements. Based on the given information, select 
which of the statements is/are definitely true?

		  A : Reema is niece of Rekha.
		  B : Rekha is mother-in-law of Seema.
		  C : Mala is sister of Rekha.
	 (A)	 Only B is true
	 (B)	 Only A and C are true
	 (C)	 All three statements are true
	 (D)	 None of the three statements are true
	 21.	 Four security guards A,B,C,D are giving duty at 

four corners of a buiding compound as shown in 
the given figure. After sometime A and C swap 
their places. Then B and D move diagonally to 
opposite corners. And then B and D each move 
one side clockwise and anti-clockwise respectively. 
D and A then move two sides each anti-clockwise 
and clockwise respectively. What is the current 
position of C?

		

A

B

C

D
	 (A)	 Diagonally opposite to D
	 (B)	 Diagonally opposite to B
	 (C)	 Towards the left of B
	 (D)	 Towards the right of A
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	 22.	 nh xbZ vkÑfr esa iz'uokpd fpÉ (?) ds LFkku ij 
dkSu&lh vkÑfr vk,xh\

		

?

	 (A)	 	 (B)	

	 (C)	 	 (D)	

	 23.	 nh xbZ vkÑfr esa iz'uokpd fpÉ (?) dks dkSu&lh 
vkÑfr izfrLFkkfir djsxh\

		

?
	 (A)	 #

@
	 (B)	

#

	 (C)	
&

	 (D)	
#

	 24.	 uhp rhu dFku fn;s x, gSa%
		 dFku
	 (A)	 dqN dsd] ckbDl gSaA
	 (B)	 dqN ckbDl] igkfM+;k¡ gSaA

	 (C)	 lHkh ySiVkWIl] ckbDl gSaA

		 fu"d"kZ%
	 (I)	 lHkh ySiVkWIl] igkfM+;k¡ gSaA
	 (II)	 lHkh ySiVkWIl] dsd gSaA

	 (III)	 lHkh dsd igkfM+;k¡ gSaA

	 (IV)	 lHkh ySiVkWIl] dsd ugha gSaA

		 mijksDr dFkuksa ds izdk'k esa] fn;s x;s fodYiksa esa lgh 
mÙkj pqfu,%

	 (A)	 dsoy (I) vuqdj.k djrk gSA

	 (B)	 dsoy ;k rks (I) ;k (II) vuqdj.k djrk gSA

	 (C)	 dsoy (I) ;k (III) vuqdj.k djrk gSA

	 (D)	 dsoy (I) vkSj (IV) vuqdj.k djrk gSA

	 25.	 uhps ,d dFku fn;k x;k gS] ftlds ckn rhu fu"d"kZ 
I] II vkSj III fn;s x, gSaA dFku dk lR; ekurs gq, 
r; dhft;s fd rkfdZd :i ls dkSu&lk fu"d"kZ vuqlj.k 
djrk gS@ dkSu&ls fu"d"kZ vuqlj.k djrs gSa\

	 22.	 Which figure will replace the question mark (?) in 
the given figure?

		

?

	 (A)	 	 (B)	

	 (C)	 	 (D)	

	 23.	 Which figure will replace the question mark (?) in 
the given figure?

		

?

	 (A)	 #
@

	 (B)	
#

	 (C)	
&

	 (D)	
#

	 24	 Given below are some statements and conclusions :
		  Statements :	
	 (A)	 Some cakes are bikes.
	 (B)	 Some bikes are hills.
	 (C)	 All laptops are bikes.
		  Conclusions :
	 (I)	 All laptops are hills.
	 (II)	 Some laptops are cakes.
	 (III)	 Some cakes are hills.
	 (IV)	 Some laptops are not cakes.
		  In the light of the above, choose the correct answer 

from the options given below :
	 (A)	 Only (I) follows
	 (B)	 Only either (II) or (IV) follows
	 (C)	 Only (I) or (III) follows
	 (D)	 Only (I) and (IV) follows
	 25.	 Given below is a statement followed by three 

conclusions I, II and III. Assuming the statement 
to be true, decide which of the conclusion logically 
follow(s)?
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		 dFku% eqnzkLiQhfr esa o`f¼ ls C;kt njksa esa o`f¼ dh 
laHkkouk gSA

	 (I)	 dtZnkjksa dh la[;k esa deh vk,xhA

	 (II)	 cSad esa tekjk'kh c<+sxh

	 (III)	 csjks”kxkjh dh nj fxjsxhA

	 (A)	 dsoy I vuqlj.k djrk gS

	 (B)	 dsoy III vuqlj.k djrk gS

	 (C)	 I vkSj II nksuksa vuqlj.k djrs gSa

	 (D)	 II vkSj III nksuksa vuqlj.k djrs gSa

	 26.	 Åij fn;s x, VsDLV esa M fdlh v{kj dks ,d ls 
vfèkd ckj Øekxr :i ls nksgjkbZ tkus dh la[;k gS 
(tSls dipper esa P) vkSj N pkj ;k mlls vfèkd 
v{kjksa okys 'kCn dh la[;k gS] tks VsDLV esa nksgjk;k 
x;k gSA M vkSj N dk mRikn D;k gS\

	 (A)	 6	 (B)	 9

	 (C)	 12	 (D)	 16

	 27.	 ,d ykbu esa dqy 83 O;fDr [kM+s gSaA ges'k vkSj lqjs'k 
ds chp 34 O;fDr [kM+s gSaA buesa ls dkSu&lh egs'k dh 
fLFkfr gks ldrh gS rkfd lqjs'k dh fLFkfr dks fof'k"V 
:i ls fuèkkZfjr djuk laHko gks\

	 A : 	vkxs ls 12oha

	 B :	 ihNs ls 41oha

	 C :	 ihNs ls 59oha

	 (A)	 dsoy A

	 (B)	 B vkSj C nksuksa

	 (C)	 A vkSj C nksuksa

	 (D)	 dsoy B

	 28.	 6 lseh Hkqtk okys ,d ?ku ds lHkh iQydksa dks yky 
jax ls jaxk tkrk gSA bl ?ku dks 2 lseh Hkqtk okys 
NksVs&NksVs ?kuksa eas dkVk tkrk gSA izR;sd NksVs ?ku ij jaxs 
u x, izR;sd iQydksa dks gjs jax ls jaxk tkrk gSA izR;sd 
NksVs ?ku dks vc vkxs 1 lseh Hkqtk okys ?kuksa esa dkVk 
tkrk gSA 1 lseh Hkqtk okys fdrus NksVs ?kuksa ds 3 iQyd 
okLro esa gjs jax ds gksaxs\

	 (A)	 48	 (B)	 64

	 (C)	 56	 (D)	 36

	 29.	 uhps iz'uksa dh ,d tksM+h nh xbZ gS] ftudk mÙkj nsuk 
vko';d gS vkSj dFkuksa dh ,d =k;h nh xbZ gSA nksuksa 
mÙkj nsus ds fy;s dFkuksa dk dkSu&lk lewg i;kZIr gS\

		 iz'u 1 % Q ds lkeus dkSu cSBk gS\

		 iz'u 2 % Q ds nk;sa dkSu cSBk gS\

		 dFku 1 % P vkSj U Øe'k% T ds ck;ha vkSj nk;ha 
vksj cSB gSa

		  Statement : The rise in inflation is likely to 
increase interest rates.

		  Conclusions :
	 (I)	 There will be decline in the number of 

borrowers.
	 (II)	 There will be more deposits in bank.
	 (III)	 The rate of unemployment will fall.
	 (A)	 Only I follows
	 (B)	 Only III follows
	 (C)	 Both I and II follow
	 (D)	 Both II and III follow
	 26.	 "Ellipses are two dimensional figure. It has two 

focii and a major axis and a minor axis. A circle is 
always an ellipse with equal major and minor 
axes."

		  In the text given above, M is the number of times, 
a letter has occurred consecutively (like p in 
dipper), and N is number of words with four or 
more letters that have been repeated in the text. 
What is the product of M and N?

		  "Ellipses are two dimensional figure. It has two 
focii and a major axis and a minor axis. A circle is 
always an ellipse with equal major and minor 
axes."

	 (A)	 6	 (B)	 9
	 (C)	 12	 (D)	 16
	 27.	 A total of 83 persons are standing in a queue. 

Between Mahesh and Suresh, there are 34 persons 
standing. Which of these could be position of 
Mahesh so that it is possible to uniquely determine 
position of Suresh?

		  A : 12th from the front
		  B : 41th from behind
		  C : 59th from behind"
	 (A)	 Only A	 (B)	 Both B and C
	 (C)	 Both A and C	 (D)	 Only B
	 28.	 "A cube of side length 6 cm is painted red on all 

its sides. This cube is cut into smaller cubes of side 
length 2 cm. On each of the smaller cubes, the 
unpainted sides are painted green. Each of the 
smaller cubes is now further cut into cubes of side 
length 1 cm. How many small cubes of side length 
1 cm will have exactly 3 of its face coloured 
green?"

	 (A)	 48	 (B)	 64

	 (C)	 56	 (D)	 36
	 29.	 Below is given a pair of questions, which are 

required to be answered, and a triad of statements. 
Which group of statements is sufficient to answer 
both the questions?

		  Question 1 : Who is sitting opposite to Q?
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		 dFku 2 % P, Q, R, S, T ds U Ng dqflZ;ksa okyh ,d 
xksy est ds pkjksa vksj cSBs gSaA

		 dFku 3 % Q, R ds Bhd ck;ha vksj ugha cSBk gSA
	 (A)	 dsoy dFku 1 vkSj 3

	 (B)	 dsoy dFku 2 vkSj 3

	 (C)	 rhuksa dFku ,d lkFk

	 (D)	 lHkh dFkuksa ds lkFk Hkh iz'uksa dk mÙkj ugha fn;k 
tk ldrk gSA

	 30.	 A vkSj B, LFkku X ls LFkku Y rd dh ;k=kk cl ls 
djus dk fu'p; djrs gSaaA A ds ikl ` 10 gSa vkSj mls 
ekywe iM+rk gS fd ;g nks O;fDr;ksa ds cl HkkM+s dk 80% 
gSA B ds ikl ̀  3 feyrs gSa vkSj bls A dks lqizn dj nsrk 
gSA bl lanHkZ esa fuEUk esa ls dkSu&lk dFku lgh gS\

	 (A)	 vc A ds ikls tks jde gS] og nks fVd [kjhnus 
ds fy;s i;kZIr gSA

	 (B)	 fVdV [kjhnus ds fy;s A dks vHkh Hkh ` 2 dh 
vko';drk gSA

	 (C)	 nks fVdV [kjnus ds i'pkr~ A ds ikl 50 iSls 
cpsaxsA

	 (D)	 A ds ikl vHkh tks jde gS] og vHkh Hkh nks 
fVdV [kjnus ds fy;s i;kZIr ugha gSA

	 31.	 rhu dFkuksa ds ckn pkj fu"d"kZ I, II, III vkSj IV fn;s 
x, gSaA dFkuksa dks lR; ekurs gq,] Hkys gh os lkekU; 
:i ls Kkr rF;ksa ls fHkUu izrhr gksrs gksa] r; dhft;s 
fd fuEufyf[kr esa ls dkSu&lk fu"d"kZ dFkuksa dk rkfdZd 
:i ls vuqlj.k djrk gSA

		 dFku%
	 (A)	 lHkh oxZ ckWDl gSA

	 (B)	 dqN ckWDl jaxhu gSaA

	 (C)	 yky ,d jax gSA

	 	fu"d"kZ%
	 (I)	 dqN ckWDl yky gSaA

	 (II)	 dqN oxZ yky gSaA

	 (III)	 dqN oxZ jaxhu gSaA

	 (IV)	 dqN ckWDl oxZ gSaA

	 (A)	 dsoy I vuqlj.k djrk gSA

	 (B)	 dsoy II vuqlj.k djrk gSA

	 (C)	 dsoy III vuqlj.k djrk gSA

	 (D)	 dsoy IV vuqlj.k djrk gSA

	 32.	 e`R;qat; CAT ijh{kk ds fy;s ,d VsLV lhjh”k [kjhnus 
dh ;kstuk cuk jgk gSA mlds }kjk fuèkkZfjr fdlh Hkh 
vkWuykbu iksVZy ds fy;s p;u ds ekunaM fuEufyf[kr 
gSa%

		  Question 2 : Who is sitting to the right of Q?
		  Statement 1 : P and U are sitting on left and right 

sides of T, respectively 
		  Statement 2 : P, Q, R, S, T and U are sitting around 

a round table with six chairs.
		  Statement 3 : Q is NOT sitting on the immediate 

left side of R
	 (A)	 Only statements 1 and 2
	 (B)	 Only statements 2 and 3
	 (C)	 All three statements together
	 (D)	 Questions cannot be answered even with all 

statements
	 30.	 A and B decide to travel from place X to place Y 

by bus. A has ` 10 with him and he finds that it is 
80% of the bus fare for two persons. B finds ` 3 
with him and hands it over to A. In this context 
which one of the following statements is correct ?

	 (A)	 Now the money A has is just enough to buy 
two tickets.

	 (B)	 A still needs ` 2 for buying the tickets.
	 (C)	 After buying the two tickets A will be left 

with 50 paise.
	 (D)	 The money A now has is still not sufficient 

to buy two tickets.
	 31.	 Three statements are given followed by four 

conclusions I, II, III and IV. Assuming the 
statements to be true, even if they seem to be at 
variance with commonly known facts, decide 
which of the following conclusions logically 
follow(s) from the statements.

		  Statements :
	 (A)	 All squares are boxes.
	 (B)	 Some boxes are coloured.
	 (C)	 Red is a colour.
		  Conclusions :
	 (I)	 Some boxes are red.
	 (II)	 Some squares are red.	
	 (III)	 Some squares are coloured.
	 (IV)	 Some boxes are squares.
	 (A)	 Only I follows
	 (B)	 Only II follows
	 (C)	 Only III follows
	 (D)	 Only IV follows
	 32.	 Mirtunjay is planning to buy a test series for the 

CAT exam. Following are the criteria of selection 
for any online portal fixed by him:
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	 (a)	 25 iw.kZ vofèk okys ekWd VsLV gksus pkfg;sA

	 (b)	 foxr 8 o"kks± ds fiNys iz'ui=k gksus pkfg;sA

	 (c)	 iksVZy ij 10,000 ls vfèkd vH;kl iz'u gksus 
pkfg;sA

	 (d)	 ;fn dksbZ iksVZy (a) dks NksM+dj mi;qZDr lHkh 
ekunaMksa dks iwjk djrk gS] ysfdu mlds ikl 20 
ls vfèkd ekWd VsLV vkSj fiNys o"kZ ds 5 ls 
vfèkd iz'ui=k gSa] rks og mls 'kkWVZfyLV djsxkA

	 (e)	 ;fn dksbZ iksVZy (c) dks NksM+dj mijksDr lHkh 
ekunaMksa dks iwjk djrk gS] ysfdu mlds ikl 
8000 ekWd VsLV vkSj fiNys o"kks± ds 5 isij 
iznku dj jgk gSA lkFk gh ;g 12000 vH;kl 
iz'u Hkh iznku dj jgk gSA

		 Åij fn;s x, vuqlkj vkWuykbu iksVZy ds p;u ds fy;s 
fuEufyf[kr esa ls dkSu&lk lgh gS\

	 (A)	 bls pquk tk,xk

	 (B)	 bls ugha pquk tk,xk

	 (C)	 bls 'kkWVZfyLV fd;k tk,xk

	 (D)	 og vius esaVkWj ls p;u ds fy;s iwNsxkA

	 33.	 jksuh ,d ekWMy gS vkSj ,d futh fte Vªsuj dh ryk'k 
esa gSA jksuh ds fy;s ,d O;fDrxr fte Vªsu dh Hkwfedk 
gsrq ,d mEehnokj ds p;u ds fy;s p;u ds ekunaM 
fuEufyf[kr gSa%

	 (a)	 Lukrd iwjk fd;k gksuk pkfg;sA

	 (b)	 izf'k{kd ds :i esa de&ls&de 3 o"kZ dk dk;Z 
vuqHko gksuk pkfg;sA

	 (c)	 ;fn dksbZ mEehnokj ekunaM (a) dks iwjk gS vkSj 
(b) dk iwjk ugha djrk gS] ysfdu O;fDrxr 
izf'k{k.k esa fMIyksek dkslZ fd;k gS] rks og ml 
O;fDr dks 'kkWVZfyLV djsxkA

	 (d)	 ;fn dksbZ mEehnokj ekunaM (b) dks iwjk djrk 
gS vkSj (a) dks iwjk ugha djrk gS] ysfdu iks"k.k 
vkSj Mk;VsfVDl esa fMxzh dksl fd;k gS] rks og 
vius eSustj ls iwNsxkA

		 fedky us O;fDrxr izf'k{k.k esa fMIyksek dkslZ fd;k gS 
vkSj fte Vªsuj ds :i esa 2 o"kZ dk vuqHko gS vkSj os 
,d izeq[k laLFkku esa Lukrd gSaA

		 fedky ds p;u ds fy;s fuEufyf[kr esa ls dkSu&lk 
fodYi lgh gS\

	 (A)	 mudk p;u fd;k tk,xk

	 (B)	 mudk p;u ugha fd;k tk,xk

	 (C)	 og ml O;fDr dks 'kkWVZfyLV djds j[ksxk

	 (D)	 og vius eSustj ls iwNsxk

	 (a)	 Must contain 25 Full-length mock tests.
	 (b)	 Must contain last 8 years previous year 

papers.
	 (c)	 Must have more than 10,000 practice 

questions on the portal.
	 (d)	 If any portal satisfies all the above criteria 

except (a) but has more than 20 mock tests 
and more than 5 previous year papers then 
he will keep that shortlisted.

	 (e)	 If any portal satisfies all the above criteria 
except (c) but has more than 8000 practice 
questions and recorded class videos, then he 
will ask his mentor.

		  “Let’s crack CAT” is providing online test series 
for CAT. It is providing 18 mock tests and 5 
previous years' Paper. It is also providing 12000 
practice questions.

		  Which of the following is correct for the selection 
of the online portal given above?"

	 (A)	 It will be selected	
	 (B)	 It will not be selected
	 (C)	 It will be shortlisted
	 (D)	 He will ask his mentor for selection.
	 33.	 Rony is a model and looking for a personal gym 

trainer. Following are the selection criteria for a 
candidate to get selected for the role of a personal 
Gym trainer for Rony:

	 (a)	 Must have completed Bachelors.
	 (b)	 Must have work experience of at least 3 years 

as a Trainer.
	 (c)	 If a candidate full fills criteria (a) and NOT 

(b) but have done a diploma course in 
personal training then he will keep that 
person shortlisted.

	 (d)	 If a candidate full fills criteria (b) and NOT 
(a) but has done a degree course in nutrition 
and dietetics then he will ask his manager.

		  Mikal has done a diploma course in personal 
training and he has 2 years’ experience as a gym 
trainer and he is a graduate from a premier institute.

		  Which of the following option below is correct for 
the selection of Mikal?"

	 (A)	 He will be selected
	 (B)	 He will not be selected
	 (C)	 He will keep that person shortlisted
	 (D)	 He will ask his manager.
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	 34.	 foiqy ekLVj izksxzke ds fy;s fo'ofo|ky;ksa dks 'kkWVZfyLV 
dj jgk gSA fdlh Hkh fo'ofo|ky; ds p;u ds fy;s 
mlus fuEufufy[kr ekunaM r; fd;k gS%

	 (a)	 ;w,l, ;k ;wds esa fLFkr gksuk pkfg;sA

	 (b)	 izcaèku izksxzke esa LukrdksÙkj iznku djuk pkfg;sA

	 (c)	 f'k{k.k 'kqYd USD 30,000 ls de gksuk pkfg;sA

	 (d)	 ;fn dksbZ fo'ofo|ky; (a) dks NksM+dj vU; 
lHkh ekunaMksa dks iwjk djrk gS] ysfdu vkWLVªsfy;k 
esa fLFkr gS rks og vius HkkbZ ls fo'ofo|ky; 
ds p;u ds fy;s iwNsxkA

	 (e)	 ;fn dksbZ fo'ofo|ky; (c) dks NksM+dj vU; 
lHkh ekunaMksa dks iwjk djrk gS] ysfdu V~;w'ku 
iQhl ij de&ls&de 60»&80» Nk=ko`fÙk iznku 
djrk gS rks og vius firk ls fo'ofo|ky; 
p;u ds fy;s iwNsxkA

		 ;wfuoflZVh vkWiQ ,fMucxZ] vk;jySaM ;wds esa fLFkr gS 
vkSj lHkh jk"Vªh; vkSj varjkZ"Vªh; Nk=kksa dks izcaèku izksxzke 
esa LukrdksÙkj iznku djrk gSA ekLVj izksxzke ds fy;s 
f'k{k.k 'kqYd USD 50,000 gS vkSj ;ksX; mEehnokjksa 
dks 75% Nk=ko`fÙk iznku djrk gSA

		 foiqy }kjk fo'ofo|ky; ds p;u gsrq fuEufyf[kr esa 
ls dkSu&lk lgh gS\

	 (A)	 bls pquk tk,xk

	 (B)	 bls pquk ugha tk,xk

	 (C)	 og vius firk ls iwNsxk	

	 (D)	 og vius HkkbZ ls iwNsxk

	 35.	 ,d cSV~leSu us (n+2) ikfj;k¡ [ksyh vkSj og lHkh le;ksa 
ij vkmV gks x;kA bu (n+2) ikfj;k¡ esa mldk vkSlr 
Ldksj 29 ju Fkk mlus vafre nks ikfj;ksa esa 38 vkSj 15 
ju dk Ldksj fd;k FkkA izFke n ikfj;ksa esa izR;sd esa 
cSV~lesu us 38 juksa ls de dk Ldksj fd;kA bu ikfj;ksa 
esa] mldk vkSlr Ldksj 30 ju Fkk ,oa U;wure Ldksj 
X ju FkkA X dk laHkkfor lcls NksVk eku _____ gSA

	 (A)	 2	 (B)	 3

	 (C)	 4	 (D)	 1

	 36.	 fdlh Hkh laxBu esa {ks=kh; fcØh izcaèkd dh Hkwfedk 
gsrq pf;ur gksus ds fy;s mEehnokj dk p;u ekunaM 
fuEufyf[kr gS%

	 (a)	 de ls de 70% vadksa ds lkFk Lukrd gksuk 
pkfg;sA

	 (b)	 Hkkjr ds fdlh Hkh izeq[k laLFkku ls ,ech, fd;k 
gksuk pkfg;sA

	 (c)	 lsYl fMikVZesaV esa de ls de 2 o"kZ rd dke 
fd;k gksA

	 34.	 Vipul is shortlisting Universities for the master’s 
program. He has decided following criteria for the 
selection of any university:

	 (a)	 Must be situated in the USA or UK.
	 (b)	 Must provide master’s in management 

program.
	 (c)	 Must have a tuition fee of less than USD 

30,000.
	 (d)	 If any University full fill all the criteria 

except (a) but is situated in Australia then 
he will ask his brother for the selection of 
University.

	 (e)	 If any University full fill all the criteria 
except (c) but provide at least 60% - 80% 
scholarship on tuition fee then he will ask 
his father for the university selection.

		  The University of Edinburg is situated in Ireland 
UK and provides a master’s in management 
program to all National and International students. 
The tuition fee for the master’s program is USD 
50,000 and provide 75% scholarship to deserving 
candidates.

		  Which of the following is true for the selection of 
University by Vipul?

	 (A)	 It will be selected
	 (B)	 It will not be selected
	 (C)	 He will ask his father
	 (D)	 He will ask his Brother
	 35.	 A batsman played (n+2) innings and got out on all 

occasions. His average score in these (n+2) innings 
was 29 runs and he scored 38 and 15 runs in the 
last two innings. The batsman scored less than 38 
runs in each of the first n innings. In these inning, 
his average score was 30 runs and lowest score 
was x runs. The smallest possible value of x is

	 (A)	 2
	 (B)	 3
	 (C)	 4
	 (D)	 1
	 36.	 Following is the selection criteria for a candidate 

to get selected for the role of Regional Sales 
Manager in any organization:

	 (a)	 Must be a graduate with at least 70% marks.
	 (b)	 Must have done MBA from any premier 

institute in India.
	 (c)	 Must have worked for at least 2 years in the 

sales department.
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	 (d)	 ;fn dksbZ mEehnokj (a) dks NksM+dj lHkh ekunaMksa 
dks iwjk djrk gS] ysfdu fcØh vkSj foi.ku esa 
ikB~;Øe dk ,d vfrfjDr izek.k&i=k fd;k gS 
rks mldk ekeyk ,pvkj gSM dks Hkstk tk,xkA

	 (e)	 ;fn dksbZ mEehnokj (b) dks NksMM+dj lHkh ekunaMksa 
dks iwjk djrk gS] ysfdu fcØh esa dke djus dk 
4 o"kZ ;k mlls vfèkd dk vuqHko gS] rks mldk 
ekeyk ,pvkj chih dks Hkstk tk,xkA

		 lquhr us laxBu esa {ks=kh; fcØh izcaèkd ds in ds fy;s 
vkosnu fd;k gSA mlus 86 iQhlnh vadksa ds lkFk ch,llh 
fd;k gSA mlds ikl lsYl eSustj ds :i esa dqy 3 
o"kZ dk dk;Z vuqHko gSA mlus 78 iQhlnh vadksa ds 
lkFk ,ech, iwjk fd;k gSA

	 (A)	 mldk p;u fd;k tk,xk

	 (B)	 mldk p;u ugha fd;k tk,xk

	 (C)	 mldk ekeyk ,pvkj gsM dks Hkstk tk,xk

	 (D)	 mldk ekeyk ,pvkj ohih dks Hkstk tk,xk

	 37.	 fdlh Hkh Lukrd dk;ZØe ds fy;s ^lsaVj ;wfuoflZVh 
vkWiQ bafM;k* esa izos'k ikus ds fy;s fdlh Hkh Nk=k ds 
p;u ekunaM fuEufyf[kr gSa%

	 (a)	 de ls de 9.0 lhthih, ds lkFk gkbZ Ldwy 
iwjk fd;k gksuk pkfg;sA

	 (b)	 1 tuojh] 2021 dks vk;q de ls de 17 o"kZ 
8 eghus dk gksuh pkfg;sA

	 (c)	 fo'ofo|ky; izos'k ijh{kk esa 85% ls vfèkd 
vad izkIr fd;s gksus pkfg;sA

	 (d)	 ;fn Nk=k (a) dks NksM+dj lHkh ekunaMksa dks iwjk 
djrs gSa] ysfdu gkbZ Ldwy esa 7-5 lhthih, ls 
vfèkd Ldksj djrs gSa] rks mudk ekeyk lhfu;j 
,Mfe'ku vkWfiQlj dks Hkstk tk,xkA

	 (e)	 ;fn Nk=k (b) dks NksM+dj lHkh ekunaMksa dks iwjk 
djrs gSa ysfdu fo'ofo|ky; izos'k ijh{kk esa 
90» ls vfèkd gSa rks mudk ekeyk foHkkx ds 
izeq[k dks Hkstk tk,xkA

		 Í"kHk us 8-2 lhthih, ds lkFk gkbZ Ldsy ikl fd;k 
gSA mlus fo'ofo|ky; izos'k ijh{kk esa 75% vad izkIr 
fd;s gSa vkSj mldk tUe 27 vizSy] 2004 dks gqvk 
FkkA

	 (A)	 mldk p;u fd;k tk,xk

	 (B)	 mldk p;u ugha fd;k tk,xk

	 (C)	 mldk ekeyk foHkkx ds izeq[k dks Hkstk tk,xk

	 (D)	 mldk ekeyk lhfu;j ,Mfe'ku vkWfiQlj ds ikl 
Hkstk tk,xkA

	 (d)	 If a candidate fulfils all the criteria except 
(a) but has done an additional certificate of 
course in sales and marketing then his/her 
case will be sent to HR Head.

	 (e)	 If a candidate fulfils all the criteria except 
(b) but has experience of 4 years or more 
working in the sale then his/her case will be 
sent to the HR VP.

		  Sunit has applied for the post of Regional sales 
manager in the organization. He has completed his 
B.Sc. with 86% marks. He has a total of 3 years 
of working experience as a sales manager. He 
completed his MBA with 78% of the score.

	 (A)	 He will be selected
	 (B)	 He will not be selected
	 (C)	 His case will be sent to the HR Head
	 (D)	 His case will be sent to the HR VP

	 37.	 Following is the selection criteria for any student 
to get admission in “Central University of India” 
for any Under-graduate program:

	 (a)	 Must have completed High school with at 
least 9.0 CGPA.

	 (b)	 Must have been at least 17 years 8 months 
old as of 1st Jan 2021.

	 (c)	 Must have scored more than 85% in the 
university entrance test

	 (d)	 If students fulfil all the criteria except (a) 
but have scored more than 7.5 CGPA in High 
school then their case will be sent to the Sr. 
Admission Officer.

	 (e)	 If students fulfil all the criteria except (b) 
but have more than 90% on the university 
entrance test then their case will be sent to 
the Head of the department.

		  Rishabh has passed high school with an 8.2 CGPA. 
He has scored 75% on the university entrance test 
and he was born on 27th April 2004.

	 (A)	 He will be selected
	 (B)	 He will not be selected
	 (C)	 His case will be sent to the Head of the 

department.
	 (D)	 His case will be sent to Sr. Admissions 

Officer
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	 38.	 eankj ,d ySiVkWi [kjhnus tk jgk gSA muds firk }kjk 
fn;s x, ySiVkWi ds p;u dk ekunaM fuEufyf[kr gS%

	 (a)	 ` 40,000 ls de dk gksuk pkfg;sA

	 (b)	 RAM 10 GB ds cjkcj ;k mlls vfèkd gksuh 
pkfg;sA

	 (c)	 o'kZu i3 ;k blds ckn ds o'kZu dk baVsy izkslslj 
gksuk pkfg;sA

	 (d)	 ;fn dksbZ ySiVkWiQ mijksDr lHkh ekunaMksa dks iwjk 
djrk gS (a) dks NksM+dj rks mls vius firk dh 
vuqefr dh vko';drk gksxh ;fn ;g ̀  45,000 
ls de dk gSA

	 (e)	 ;fn (b) dks NksM+dj dksbZ Hkh ySiVkWi mijksDr 
lHkh ekunaMksa dks iwjk dj jgk gS rks mls viuh 
ekrk dh vuqefr dh vko';drk gksxh ;fn blesa 
8GB ls vfèkd dh jSe gSA NEWCOM ck”kkj 
esa ,d u;k ySiVkWi gS ftldh dher ` 38,000  
gS vkSj 9GB jSe gSA

		 blesa i3 o'kZu dk baVsy izkslslj gSA fuEufyf[kr esa ls 
dkSu&lk fodYi Åij fn;s x, ySiVkWi ds fy;s lgh gS\

	 (A)	 og ySiVkWi [kjhnsxkA

	 (B)	 og ySiVkWi ugha [kjhnsxk

	 (C)	 bls [kjhnus ds fy;s mls firkth dh vuqefr pkfg;sA

	 (D)	 mls [kjhnus ds fy;s mls ekrk dh vuqefr pkfg;sA

	 39.	 fdlh fnu eknk dqÙkk eksruh us] =k;h (Triplets) cPpksa 
dks tUe fn;kA

	 (I)	 B dh vis{kk A dk otu vfèkd gSA

	 (II)	 C dh vis{kk B dk otu de gSA

	 (III)	 rhu fiYyksa esa ls C dk otu lokZfèkd gSA

		 ;fn nks dFku lgh gSa] rks rhljk dFkuµ
	 (A)	 lR;

	 (B)	 vlR;

	 (C)	 vfuf'pr

	 (D)	 mijksDr esa ls dksbZ ugha

	 40.	 pkj nksLr lfpu] jfpr] jkt vkSj fiaVw ,d 4&Ýyksj 
okys Hkou ds vyx&vyx ÝykslZ ij jgrs gSa] ysfdu 
t:jh ugha fd blh Øe esa gksaA xzkmaM Ýyksj dh la[;k 
1 gS] iQLVZ Ýyksj dh la[;k 2 gSa] blh rjg lcls Åij 
ds Ýyksj dh la[;k 4 gSA lfpu ,d le la[;k okys 
Ýyksj ij ugha jgrk gSA fiaVw ftl Ýyksj ij jgrk gS 
mlds uhps dsoy rhu fe=k jgrs gSaa jfpr] lfpu ds 
Bhd Åij jgrk gSaA jkt fdl Ýyksj ij jgrk gS\

	 (A)	 igys	 (B)	nwljs

	 (C)	 rhljs	 (D)	 pkSFks

	 38.	 Mandar is going to buy a laptop. Following is the 
criteria of selection of the laptop given by his 
father:

	 (a)	 Must be for less than ` 40,000.
	 (b)	 Must have RAM equal to or more than 10 

GB
	 (c)	 Must have Intel processor of version i3 or 

above.
	 (d)	 If any laptop is satisfying all the above 

criteria except (a) then it will need his dad’s 
permission if it is for less than ` 45,000.

	 (e)	 If any laptop is satisfying all the above 
criteria except (b) then it will need his 
mom’s permission if it has RAM of more 
than 8GB. NEWCOM is a new laptop in the 
market cost ` 38000 and has 9GB RAM.

		  It has an Intel processor of version i3. Which of 
the following is the option below is correct for the 
laptop given above?

	 (A)	 He will buy the Laptop.
	 (B)	 He will not buy the Laptop.
	 (C)	 He needs dad’s permission to buy it
	 (D)	 He needs mom’s permission to buy it.
	 39.	 On the day the triplets were born to Moti, the 

female dog.
	 (I)	 A weighs more than B.
	 (II)	 B weighs less than C.
	 (III)	 Of the three puppies, C weighs the most.
		  If the two statements are true, the third statement 

is -
	 (A)	 True
	 (B)	 False
	 (C)	 Uncertain
	 (D)	 None of the above 
	 40.	 Four friends Sachin, Rachit, Raj, and Pintu live on 

separate floors of a 4-floor building, but not 
necessarily in the same order. The ground floor is 
numbered 1, the first floor is numbered 2, and so 
on until the topmost floor is numbered 4. Sachin 
does not live on an even-numbered floor. Only 
three friends live below the floor on which Pintu 
lives. Rachit lives immediately above Sachin.
Which floor does Raj live on?

	 (A)	 1st

	 (B)	 2nd

	 (C)	 3rd

	 (D)	 4th
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	 41.	 yqIr in dh x.kuk dhft;s%
		 300, 296, 287, 271, __?__ 210
	 (A)	 246	 (B)	 250
	 (C)	 244	 (D)	 buesa ls dksbZ ugha

	 42.	 ik¡p lgsfy;k¡ oS'kkyh] jf'e] ik;y] fufèk vkSj fu;fr 
rhu vyx&vyx d{kkvksa VI, VII vkSj VIII esa i<+rs 
gSaA muesa ls izR;sd vyx izdkj ds isu ilan djrh gSa& 
P, Q, R, S vkSj T] ysfdu t:jh ugha fd blh Øe esa 
gksA fdlh Hkh d{kk esa nks ls vfèkd ;k ,d ls de 
vè;;u ugha djrh gSaA jf'e dk isu S ilan gSA vkSj 
mlh d{kk esa i<+rh gS ftlesa dsoy oS'kkyh i<+rh gS] 
vFkkZr~] VI esaA fu;fr dks isu Q ilan gS vkSj og 
vkBoha d{kk esa ugha i<+rh gSaA fufèk vkBoha d{kk esa 
i<+rh gS vkSj mls P ;k T esa esa ls dksbZ Hkh isu ilan 
gSA ik;y dks isu T ilan ugha gS vkSj og d{kk VIII 
esa i<+rh gSA oS'kkyh dks dkSu&lk isu ilan gS\

	 (A)	 P	 (B)	 R
	 (C)	 P ;k R	 (D)	 T
	 43.	 fuEu esa ls dkSu&lh  Ük`a[kyk dh la[;k ugha gks ldrh\
		 64, 125, 216, 345, 512 _______ .
	 (A)	 8	 (B)	 729
	 (C)	 27	 (D)	 999
	 44.	 Ng fe=k jksfgr] jfpr] fjadw] jkt] jtr vkSj fj'kq ,d 

iafDr esa vyx&vyx LFkkuksa ij cSBs gSa] ysfdu t:jh 
ugha fd blh Øe esa gksaA jksfgr ck,a ls igys LFkku ij 
cSBk gSaA tcfd jtr ck,a ls rhljs LFkku ij cSBk gS 
jkt vkSj fjadw ds chp dsoy nks fe=k cSBs gSaA jkt] jksfgr 
dk fudVre iM+kslh gS] fj'kq jtr dk fudVre iM+kslh 
ugha gSA ck,a ls nwljs LFkku ij dkSu cSBk gS\

	 (A)	 jfpr	 (B)	jkt
	 (C)	 fj'kq	 (D)	 fjadw

	 45.	 Ng O;fDr jkt] jksfgr] jfpr] jtr] fj'kq vkSj fjadw ,d 
dk;kZy; esa dke djrs gSa mues ls izR;sd ds ikl ,d 
ilanhnk dkj gS vFkkZr~ P, Q, R, S, T vkSj U ysfdu 
t:jh ugha fd blh Øe esa gksaA izR;sd dks vyx&vyx  
osru 1000, 2000, 2500, 3000 vkSj 4000 feyrk gS 
ysfdu t:jh ugha fd blh Øe esa gksA jtr dks 2500 
osru feyrk gS vkSj mudh ilanhnk dkj U gSA ftls 
dkj Q ilan gS mls 3000 osru feyrk gSA jfpr dks 
dkj P ilan gS vkSj mls 3500 osru feyrk gSA og 
O;fDr ftls 1000 osru feyrk gS mls dkj R ;k S ilan 
ugha gS fjadw dks dkj Q ;k S ilan ugha gS ysfdu 2000 
osru feyrk gSA fj'kq dks 4000 osru feyrk gS vkSj mls 
R dkj ilan ugha gSA jksfgr dks 1000 osru ugha feyrk 
gSA 3000 dk osru fdls feyrk gS\

	 (A)	 jksfgr	 (B)	jkt

	 (C)	 fjadw	 (D)	 jfpr

	 41.	 Calculate the missing term :
		  300, 296, 287, 271, ? , 210
	 (A)	 246	 (B)	 250
	 (C)	 244	 (D)	 None of these
	 42.	 Five friends Vaishali, Rashmi, Payal, Nidhi, and 

Niyati study in three different classes - VI, VII, 
and VIII. Each of them has a different choice of 
pen like — P, Q, R, S, and T, but not necessarily 
in the same order. Not more than two or less than 
one study in any of the classes. Rashmi likes pen 
S and studies in the same class as only Vaishali 
studies, i.e., VI. Niyati likes pen Q and does not 
study in class VIII. Nidhi studies in class VIII and 
does not like pen either P or T. Payal does not like 
pen T and studies in class VIII. Which pen does 
Vaishali like?

	 (A)	 P	 (B)	 R
	 (C)	 P or R	 (D)	 T
	 43.	 Which of the following cannot be a number of the 

series ?
		  64, 125, 216, 345, 512,
	 (A)	 8	 (B)	 729
	 (C)	 27	 (D)	 999
	 44.	 Six friends Rohit, Rachit, Rinku, Raj, Rajat, and 

Rishu are sitting in a row at different positions, but 
not necessarily in the same order. Rohit is sitting 
at the first position from left while Rajat is sitting 
at the third position from right. Only two friends 
are sitting between Raj and Rinku. Raj is an 
immediate neighbor of Rohit. Rishu is not an 
immediate neighbor of Rajat. Who is sitting at the 
second position from the left?

	 (A)	 Rachit	 (B)	 Raj
	 (C)	 Rishu	 (D)	 Rinku
	 45.	 Six persons Raj, Rohit, Rachit, Rajat, Rishu, and 

Rinku are working in an office. Each of them has 
a favorite car viz. P, Q, R, S, T, and U, but not 
necessarily in the same order. Each of them got a 
different salary — 1000, 2000, 2500, 3000, 3500, 
and 4000, but not necessarily in the same order. 
Rajat gets a salary of 2500 and his favorite car is 
U. The one who likes car Q gets a salary of 3000. 
Rachit likes car P and gets a salary of 3500. The 
one who gets a salary of 1000 does not like car R 
or S. Rinku does not like car Q or S but gets a 
salary of 2000. Rishu gets a salary of 4000 and 
does not like a car R. Rohit does not get a salary 
of 1000. Who gets a salary of 3000?

	 (A)	 Rohit	 (B)	 Raj
	 (C)	 Rinku	 (D)	 Rachit
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	 46.	 e
	 (A)	 e	 (B)	r

	 (C)	 u	 (D)	 d

	 47.	 ik¡p fe=k P, Q, R, S vkSj T ,d 5&Ýyksj ds Hkou ds 
vyx&vyx Ýyksj ij jgrs gSa] ysfdu t:jh ugha fd 
blh Øe esa gksaa xzkm.M Dyksj dh la[;k 1 gS] iQLVZ 
Ýyksj dh la[;k 2 gS] vkSj blh rjg lcls Åij ds 
Ýyksj dh la[;k 5 gSA S, P ds Bhd Åij jgrk gSA S 
vkSj T ds chp dsoy nks fe=k jgrs gSaA P lcls uhps ds 
Ýyksj ij jgrk gSA Q fo"ke la[;k okys Ýyksj ij ugha 
jgrk gSA R fdl Ýyksj ij jgrk gS\

	 (A)	 ik¡pok	 (B)	nwljk

	 (C)	 rhljk	 (D)	 pkSFkk

	 48.	 Ng fe=k P, Q, R, S, T vkSj U daiuh dh ,d iafDr esa 
vyx&vyx LFkkuksa ij cSBs gSa] vkSj muesa ls izR;sd dk 
vyx&vyx osru feyrk gS tSls& 500, 800, 1000, 
1500, 1800 vkSj 2000 ysfdu ”k:jh ugha mlh Øe 
esa gksA 2000 osru ikus okyk fe=k iafDr ds vafre Nksj 
ij ugha cSBk gSA Q, P ds Bhd igys cSBrk gS vkSj mls 
800 osru feyrk gSA T, U vkSj S ds chp cSBrk gS] Q, 
S ds ck,a ls nwljs LFkku ij gSA P iafDr ds ck,a Nksj ij 
cSBrk gS vkSj mls 1000 osru feyrk gSA T dks 1500 
osru feyrk gSA R dks u rks 2000 osru feyrk gS vkSj 
u gh 1800 osruA U dks fdruk osru feyrk gS\

	 (A)	 1800
	 (B)	 2000
	 (C)	 500

	 (D)	 500 ;k 2000

	 49.	 ik¡p fe=k P, Q, R, S vkSj T ,d 5&Ýyksj ds Hkou ds 
vyx&vyx Ýyksj ij jgrs gSa] ysfdu t:jh ugha fd 
blh Øe esa gksaA xzkmaM Ýyksj dh la[;k 1 gS] iQLVZ 
Ýyksj dh la[;k 2 gS] vkSj blh rjg lcls Åij ds 
Ýyksj dh la[;k 5 gSA muesa ls izR;sd dk ilanhnk fo"k; 
Hkh gSµ fganh] foKku] xf.kr] dyk vkSj vaxzsth ysfdu 
”k:jh ugha fd blh Øe esa gksA og O;fDr tks nwljs 
Ýyksj ij jgrk gS] xf.kr ilan djrk gSA R dks foKku 
ilan gS vkSj og rhljs Ýyksj ij jgrk gSA og O;fDr 
tks lcls uhps ds Ýyksj ij jgrk gS] vaxzsth ilan djrk 
gSA P ik¡posa Ýyksj ij jgrk gSA S, T ds Bhd Åij okys 
Ýyksj ij jgrk gSA og O;fDr ftls dyk ilan gS og 
fo"ke la[;k okys Ýyksj ij ugha jgrk gSA nwljs Ýyksj 
ij dkSu jgrk gS\

	 (A)	 S	 (B)	 P

	 (C)	 T	 (D)	 Q

	 46.	 The only _______ with the proposal is that it is a 
little expensive.

 	 (A)	 glitch	 (B)	 blunder
	 (C)	 hardship	 (D)	 dilemma
	 47.	 Five friends P, Q, R, S, and T live on a separate 

floor of a 5-floor building, but not necessarily in 
the same order. The ground floor is numbered 1, 
the first floor is numbered 2, and so on until the 
topmost floor is numbered 5. S lives immediately 
above P. Only two friends live between S and T. P 
lives on the lowermost floor. Q does not live on an 
odd-numbered floor. Which floor does R live on?

	 (A)	 5th	 (B)	 2nd

	 (C)	 3rd	 (D)	 4th

	 48.	 Six friends P, Q, R, S, T, and U are sitting at 
different positions in a row of the company, and 
each of them get a different salary viz — 500, 800, 
1000, 1500, 1800 & 2000, but not necessary in the 
same order. The friend who gets a salary of 2000 
does not sit at the extreme end of the row. Q sits 
immediately before R and gets a salary of 800. T 
sits between U and S. Q is second to the left of S. 
P sits at the left end of the row and gets a salary of 
1000. T gets a salary of 1500. R gets a salary 
neither of 2000 nor of 1800. How much salary does 
U get?

	 (A)	 1800
	 (B)	 2000
	 (C)	 500
	 (D)	 500 or 2000
	 49.	 Five person P, Q, R, S, and T lives on a separate 

floor of a 5-floor building, but not necessarily in 
the same order. The ground floor is numbered 1, 
the first floor is numbered 2, and so on until the 
topmost floor is numbered 5. Each of them also 
has a favorite subject from — Hindi, Science, 
Math, Art, and English, but not necessarily in the 
same order. The one who lives on the second floor 
likes Math. R likes Science and he lives on the 
third floor. The one who lives on the lowermost 
floor likes English. P lives on the fifth floor. S lives 
on the floor immediately above T. The one who 
likes Art does not live on an odd-numbered floor. 
Who lives on the second floor?

	 (A)	 S	
	 (B)	 P
	 (C)	 T
	 (D)	 Q
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	 50.	 fn;s x, dFku ds ckn nks vuqeku (I) vkSj (II) fn;s 
x, gSaA vkidks p;u dks lgh ekuuk gS] Hkys gh og 
lkekU;r% Kkr rF;ksa ls fHkUu izrhr gksrk gksA r; djsa 
fd nh xbZ èkkj.kkvksa esa ls dkSu&lk] rkfdZd :i ls fn;s 
x, dFku ds lkFk tkrk gSA

		 dFku%
		 i;kZoj.k dks cpkus ds fy;s iwjs ns'k esa voSèk [kuu ij 

iw.kZ izfrcaèk yxk;k tkuk pkfg;sA

	 	èkkj.kk,¡
	 (I)	 dkuwuh :i ls fd;s x, [kuu ls i;kZoj.k dks 

dksbZ uqdlku ugha gksrk gSA

	 (II)	 [kuu i;kZoj.kh; {kfr ds fy;s ftEesnkj dkjdksa 
esa ls ,d gSA

	 (A)	 dsoy èkkj.kk (I) fufgr gSA

	 (B)	 dsoy èkkj.kk (II) fufgr gSA

	 (C)	 u rks èkkj.kk (I) vkSj u gh èkkj.kk (II) fufgr gSA

 	 (D)	 èkkj.kk (I) vkSj èkkj.kk (II) nksuksa fufgr gSA

	 51.	 fn;s x, dFku ds ckn nks vuqeku (I) vkSj (II) fn;s 
x, gSaA vkidks dFku dks lgh ekuuk gS] Hkys gh og 
lkekU;r% Kkr rF;ksa ls fHkUu izrhr gksrk gks r; djsa 
fd nh xbZ èkkj.kkvksa esa ls dkSu&lk] rkfdZd :i ls fn;s 
x, dFku ds lkFk tkrk gSA

	 	dFku%
		 lcls cM+s daI;wVj fuekZrk us MsLdVkWi ds vfèkdka'k 

ekWMyksa dh dherksa esa rRdky izHkko ls vyx 15 çfr'kr 
dh deh dh gSA

		 èkkj.kk,¡%
	 (I)	 MsLdVkWi dherksa esa deh ls daiuh dks Hkkjh 

uqdlku gks ldrk gSA

	 (II)	 daiuh }kjk fufeZr MsLdVkWi dh fcØh fudV 
Hkfo"; esa dkiQh c<+ ldrh gSA

	 (A)	 dsoy èkkj.kk (I) fufgr gSA

	 (B)	 dsoy èkkj.kk (II) fufgr gSA

	 (C)	 u rks èkkj.kk (I) vkSj u gh èkkj.kk (II) fufgr gSA

	 (D)	 èkkj.kk (I) vkSj èkkj.kk (II) nksuksa fufgr gSaA

	 52.	 fn;s x, dFku ds ckn nks vuqeku (I) vkSj (II) fn;s 
x, gSaA vkidks dFku dks lgh ekuuk gS] Hkys gh og 
lkekU;r% Kkr rF;ksa ls fHkUu izrhr gksrk gksA r; djsa 
fd nh xbZ èkkjk.kkvksa esa ls dkSu&lk] rkfdZd :i ls 
fn;s x, dFku ds lkFk tkrk gSA

		 dFku%

		 deZpkfj;ksa dks iwjks dke nsus ls igys mUgsa dke ls 
lacafèkr izf'k{k.k nsaA

	 50.	 Given statement is followed by two assumptions 
numbered (I) and (II). You have to consider the 
statement to be TRUE, even if it seem to be at 
variance with commonly known facts. Decide 
which of the given assumptions logically follow/s 
from the given statement.

		  Statement : To save the environment, a complete 
ban on illegal mining should be imposed on the 
whole country.

		  Assumptions :
	 (I)	 Mining done legally does not cause any harm 

to the environment.
	 (II)	 Mining is one of the factors responsible for 

environmental damage.
	 (A)	 Only Assumption (I) is implicit.
	 (B)	 Only Assumption (II) is implicit.
	 (C)	 Neither Assumption (I) nor Assumption (II) 

is implicit.
	 (D)	 Both Assumption (I) and Assumption (II) 

are implicit.
	 51.	 Given statement is followed by two assumptions 

numbered (I) and (II). You have to consider the 
statement to be TRUE, even if it seem to be at 
variance with commonly known facts. Decide 
which of the given assumptions logically follow/s 
from the given statement.

		  Statement : The largest computer manufacturer 
has reduced the prices of most of the models of the 
desktop by about 15 percent with immediate effect.

		  Assumptions :
	 (I) 	 The company may incur huge losses due to 

the reduction in desktop prices.
	 (II)	 The sales of desktops manufactured by the 

company may increase significantly in the 
near future.

	 (A)	 Only Assumption (I) is implicit.
	 (B)	 Only Assumption (II) is implicit.
	 (C)	 Neither Assumption (I) nor Assumption (II) 

is implicit.
	 (D)	 Either Assumption (I) or Assumption (II) is 

implicit.
	 52.	 Given statement is followed by two assumptions 

numbered (I) and (II). You have to consider the 
statement to be TRUE, even if it seem to be at 
variance with commonly known facts. Decide 
which of the given assumptions logically follow/s 
from the given statement.

		  Statement: Before giving full work to the 
employees, give them work-related training.
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		 èkkj.kk,¡%

	 (I)	 çf'k{k.k deZpkfj;ksa dks muds izn'kZu dks c<+kus 
esa enn djrk gSA

	 (II)	 izf'k{k.k ls igys deZpkfj;ksa ds ikl dksbZ dkS'ky 
ugha gSA

	 (A)	 dsoy èkkj.kk (I) fufgr gSA

	 (B)	 dsoy èkkj.kk (II) fufgr gSA

	 (C)	 u rks èkkj.kk (I) vkSj u gh èkkj.kk (II) fufgr 
gSA	

	 (D)	 èkkj.kk (I) vkSj èkkj.kk (II) nksuksa fufgr gSaA

	 53.	 fn;s x, dFku ds ckn nks vuqeku (I) vkSj (II) fn;s 
x, gSaA vkidks dFku dks lgh ekuuk gS] Hkys gh og 
lkekU;r% Kkr rF;ksa ls fHkUu izrhr gksrk gksA r; djsa 
fd nh xbZ èkkjk.kkvksa esa ls dkSu&lk] rkfdZd :i ls 
fn;s x, dFku ds lkFk tkrk gSA

		 dFku%

		 feV~Vh esa iks"kd rRoksa dh iwfrZ ds fy;s izR;sd oSdfYid 
ekSle esa fofHkUu izdkj dh iQlysa mxkuk vko';d gSA

		 èkkj.kk,¡%

	 (I)	 ,d gh [ksr esa nwljh ckj dksbZ iQly ugha mxkbZ 
tk ldrhA

	 (II)	 ;fn vxys ekSle esa nwljh iQly mxkbZ tkrh gS] 
rks feV~Vh dks moZjdksa tSls vfrfjDr iks"kd rRoksa 
dh vko';drk ugha gksrh gSA

	 (A)	 dsoy èkkj.kk (I) fufgr gSA

	 (B)	 dsoy èkkj.kk (II) fufgr gSA

	 (C)	 u rks èkkj.kk (I) vkSj u gh èkkj.kk (II) fufgr 
gSA	

	 (D)	 èkkj.kk (I) vkSj èkkj.kk (II) nksuksa fufgr gSaA

	 54.	 fn;s x, dFku ds ckn nks vuqeku (I) vkSj (II) fn;s 
x, gSaA vkidks dFku dks lgh ekuuk gS] Hkys gh og 
lkekU;r% Kkr rF;ksa ls fHkUu izrhr gksrk gksA r; djsa 
fd nh xbZ èkkj.kkvksa esa ls dkSu&lk] rkfdZd :i ls fn;s 
x, dFku ds lkFk tkrk gSA

		 dFku%

		 ;fn fdlku csgrj mit pkgrs gSa rks mUgsa jklk;fud 
[kkn ds LFkku ij tSfod [kkn dk iz;ksx djuk pkfg;sA

		 èkkj.kk,¡ %

	 (I)	 jklk;fud moZjdksa dk LokLF; ij dqN cqjk izHkko 
iM+rk gSA

	 (II)	 jklk;fud [kkn ls mruh iSnkokj ugha gksrh ftruh 
tSfod [kkn ls gksrh gSA

		  Assumptions : 
	 (I) 	 Training helps the employees to increase 

their performance.
	 (II)	 Employees do not have any skills prior to 

training.
	 (A)	 Only Assumption (I) is implicit.
	 (B)	 Only Assumption (II) is implicit.
	 (C)	 Neither Assumption (I) nor Assumption (II) 

is implicit.
	 (D)	 Both Assumption (I) and Assumption (II) 

are implicit.
	 53.	 Given statement is followed by two assumptions 

numbered (I) and (II). You have to consider the 
statement to be TRUE, even if it seem to be at 
variance with commonly known facts. Decide 
which of the given assumptions logically follow/s 
from the given statement.

		  Statement : It is necessary to grow different types 
of crops in each alternate season to replenish the 
nutrients in the soil.

		  Assumptions :
	 (I)	 No crop can be grown for the second time 

in the same field.
	 (II)	 If a different crop is grown in the next season, 

the soil does not require additional nutrients 
like fertilizers.

	 (A)	 Only Assumption (I) is implicit.
	 (B)	 Only Assumption (II) is implicit.
	 (C)	 Neither Assumption (I) nor Assumption (II) 

is implicit.
	 (D)	 Either Assumption (I) or Assumption (II) is 

implicit.
	 54.	 Given statement is followed by two assumptions 

numbered (I) and (II). You have to consider the 
statement to be TRUE, even if it seem to be at 
variance with commonly known facts. Decide 
which of the given assumptions logically follow/s 
from the given statement.

		  Statement : If farmers want better yield then they 
should use organic manure instead of chemical 
manure.

		  Assumptions :
	 (I)	 Chemical fertilizers have some bad effects 

on health.
	 (II)	 Chemical fertilizers do not produce as much 

yield as organic fertilizers.
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	 (A)	 dsoy èkkj.kk (I) fufgr gSA

	 (B)	 dsoy èkkj.kk (II) fufgr gSA

	 (C)	 u rks èkkj.kk (I) vkSj u gh èkkj.kk (II) fufgr 
gSA	

	 (D)	 èkkj.kk (I) vkSj èkkj.kk (II) nksuksa fufgr gSaA

	 55.	 jtr vius dkWyst ls if'pe dh vksj pyuk 'kq: djrk 
gS] fiQj jtr vius ?kj igq¡pus ds fy;s ,d ck,a eqM+rk 
gS] ,d ckj nk,a eqM+rk gS vksj fiQj nwljh ckj ck,a 
eqM+rk gSA jtr dk ?kj mlds dkWyst ls fdl fn'kk esa 
gS\

	 (A)	 iwoZ	 (B)	nf{k.k&if'pe

	 (C)	 mÙkj&if'pe	 (D)	 if'pe

	 56.	 lkSjHk 10 eh- if'pe dh vksj pyrk gS] ck,a eqM+rk gS 
vkSj 20 eh- pyrk gSA fiQj og nk;sa eqM+rk gS vkSj 10 
eh- pyrk gSA fiQj og ,d ckj vkSj ck,a eqM+rk gS vkSj 
20 eh- pyrk gSA fiQj og nk;sa eqM+rk gS vkSj 10 eh- 
pyrk gSA var esa og nk;sa eqM+rk gS vkSj 40 eh- pyrk 
gSA og vkjafHkd fcanq ls fdruh nwj Fkk\

	 (A)	 30 eh	 (B)	25 eh

	 (C)	 20 eh	 (D)	 18 eh

	 57.	 jtr iwoZ dh vksj 20 eh- pyrk gS] ck,a eqM+rk gS vkSj 
20 eh- pyrk gSA fiQj og nk;sa eqM+rk gS vkSj 20 eh- 
pyrk gSA fiQj og ck,a eqM+rk gS vkSj 20 eh- pyrk 
gSA og ,d ckj fiQj ls ck;sa eqM+rk gS vkSj 40 eh- pyrk 
gSA var esa] og viuh ckbZ vksj eqM+rk gS 20 eh- tkrk 
gSA var esa jtr dk eq[k fdl fn'kk esa gS\

	 (A)	 iwoZ	 (B)	nf{k.k&if'pe

	 (C)	 nf{k.k	 (D)	 if'pe

	 58.	 xkSjo 60 fdeh- if'pe dh vksj pyrk gS vkSj fiQj 
ck,a eqM+rk gS vkSj 60 fdeh pyrk gSA og ck,a eqM+rk 
gS vkSj 20 fdeh- pyrk gSA og ck,a eqM+rk gS vkSj 20 
fdeh pyrk gSA og nk;sa eqM+rk gS vkSj 20 fdeh- pyrk 
gSA og ,d ckj fiQj ck,a eqM+rk gS vkSj 20 fdeh- pyrk 
gSA var esa] og viuh nkfguh vksj eqM+rk gS vkSj 20 
fdeh- tkrk gS vkSj :d tkrk gSA xkSjo vius izkjafHkd 
LFkku ls fdruh nwj gS\

	 (A)	 30 fdeh-	 (B)	25 fdeh-

	 (C)	 20 fdeh-	 (D)	 18 fdeh-

	 59.	 ,d odZj vius dk;kZy; ls pyuk 'kq: djrk gSA og 
igys 40 ehVj nf{k.k dh vksj vkSj fiQj 30 ehVj 
if'pe dh vksj pyrk gSA og vkjafHkd fcanq ls fdruh 
nwj gS\

	 (A)	 45 eh-	 (B)	55 eh-

	 (C)	 48 eh-	 (D)	 50 eh-

	 (A)	 Only Assumption (I) is implicit.
	 (B)	 Only Assumption (II) is implicit.
	 (C)	 Neither Assumption (I) nor Assumption (II) 

is implicit.
	 (D)	 Both Assumption (I) and Assumption (II) 

are implicit.
	 55.	 Rajat starts walking West from his college, then 

Rajat took one left turn, one right turn and then 
another left turn to reach his home. In which 
direction is Rajat's home from his college?

	 (A)	 East	 (B)	 South-West
	 (C)	 North-West	 (D)	 West
	 56.	 Saurabh walked 10 m West, took a left turn and 

walked 20 m. He then took a right turn and walked 
10m. Then he took a left turn and walked 20 m. 
Then he took a right turn and walked 10 m. Finally 
he took a right turn and walked 40 m. How far was 
he from the starting point?

	 (A)	 30 m	 (B)	 25 m
	 (C)	 20 m	 (D)	 18 m
	 57.	 Rajat walked 20 m towards East, took left turn and 

walked 20 m. Then he took a right turn and walked 
20 m. Then he took a left turn and walked 20 m. 
He again took a left turn and walked 40 m. Finally, 
he turned to his left and walked 20 m. In which 
direction is Rajat facing finally?

	 (A)	 East	 (B)	 South-West
	 (C)	 South	 (D)	 West
	 58.	 Gaurav walked 60km West and then took a left 

turn and walked 60km. He took a left turn and 
walked 20km. He took a left turn and walked 
20km. He took a right turn and walked 20km. He 
again took a left turn and walked 20km. Finally, 
he turned to his right and walked 20km and 
stopped. How far is Gaurav from his initial 
position?

	 (A)	 30 km
	 (B)	 25 km
	 (C)	 20 km
	 (D)	 18 km
	 59.	 A worker starts walking from his office. He first 

walks 40 meters South, and then 30 meters West. 
How far is he from the starting point?

	 (A)	 45 m
	 (B)	 55 m
	 (C)	 48 m
	 (D)	 50 m
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	 60.	 fuEufyf[kr iz'u esa pkj leL;k vkÑfr;k¡ vkSj pkj 
mÙkj vkÑfr;k¡ gSaA mÙkj vkÑfr;ksa esa ls ml ,d vkÑfr 
dk p;u djsa tks mlh lhjh”k dks tkjh j[ksxh tks leL;k 
vkÑfr;ksa esa nh xbZ gSA

		 leL;k vkÑfr;k¡

		
		 mÙkj vkÑfr;k¡

		 	 (a)	 (b)	 (c)	 (d)
	 (A)	 (a)	 (B)	 (b)
	 (C)	 (c)	 (D)	 (d)
	 61.	 fuEufyf[kr iz'u esa pkj leL;k vkÑfr;k¡ vkSj pkj 

mÙkj vkÑfr;k¡ gS] ftudksa (a), (b), (c) vkSj (d) fpfÉr 
fd;k x;k gSaA mÙkj vkÑfr;ksa esa ls ml ,d vkÑfr 
dk p;u djsa tks fdlh lhjh”k dks tkjh j[ksxh tks 
leL;k vkÑfr;ksa esa nh xbZ gSA

		 leL;k vkÑfr;k¡

		
		 mÙkj vkÑfr;k¡

		
	 (a)	 (b)	 (c)	 (d)
	 (A)	 (a)	 (B)	 (b)
	 (C)	 (c)	 (D)	 (d)
	 62.	 fuEufyf[kr iz'u esa pkj leL;k vkÑfr;k¡ vkSj pkj 

mÙkj vkÑfr;k¡ gSa] ftudksa (a), (b), (c) vkSj (d) fpfÉr 
fd;k x;k gSaA mÙkj vkÑfr;ksa esa ls ml ,d vkÑfr 
dk p;u djsa tks mlh lhjh”k dks tkjh j[ksxh tks leL;k 
vkÑfr;ksa esa nh xbZ gSA

		 leL;k vkÑfr;k¡

		
		 mÙkj vkÑfr;k¡

		
	 (a)	 (b)	 (c)	 (d)
	 (A)	 (a)	 (B)	 (b)

	 (C)	 (c)	 (D)	 (d)

	 60.	 The following question, contain four problem 
figures and four answer figures. Select a figure 
from amongst the answer figures which will 
continue the same series as given in the problem 
figures.

		  Problem Figures

		
		 Answer Figures

		 	 (a)	 (b)	 (c)	 (d)
	 (A)	 (a)	 (B)	 (b)
	 (C)	 (c)	 (D)	 (d)
	 61.	 The following question, contain four problem 

figures and four answer figures marked (a), (b), 
(c), and (d). Select a figure from amongst the 
answer figures which will continue the same series 
as given in the problem figures.

		 Problem Figures

		
		 Answer Figures

		
	 (a)	 (b)	 (c)	 (d)
	 (A)	 (a)	 (B)	 (b)
	 (C)	 (c)	 (D)	 (d)
	 62.	 The following question, contain four problem 

figures and four answer figures marked (a), (b), 
(c), and (d). Select a figure from amongst the 
answer figures which will continue the same series 
as given in the problem figures.

		 Problem Figures

		
		 Answer Figures

		

	 (a)	 (b)	 (c)	 (d)
	 (A)	 (a)	 (B)	 (b)
	 (C)	 (c)	 (D)	 (d)
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	 63.	 fuEufyf[kr iz'u esa pkj leL;k vkÑfr;k¡ vkSj pkj 
mÙkj vkÑfr;k¡ gS] ftudks (a), (b), (c) vkSj (d) fpfÉr 
fd;k x;k gSaA mÙkj vkÑfr;ksa esa ls ml ,d vkÑfr 
dk p;u djsa tks mlh lhjh”k dks tkjh j[ksxh tks leL;k 
vkÑfr;ksa esa nh xbZ gSA

		 leL;k vkÑfr;k¡

		
		 mÙkj vkÑfr;k¡

		
	 (a)	 (b)	 (c)	 (d)
	 (A)	 (a)	 (B)	 (b)

	 (C)	 (c)	 (D)	 (d)

	 64.	 fuEufyf[kr iz'u esa pkj leL;k vkÑfr;k¡ vkSj pkj 
mÙkj vkÑfr;k¡ gS] ftudk (a), (b), (c) vkSj (d) fpfÉr  
fd;k x;k gSA mÙkj vkÑfr;ksa esa ls ml ,d vkÑfr 
dk p;u djsa tks lhjh”k dks tkjh j[ksxh tks leL;k 
vkÑfr;ksa esa nh xbZ gSA

		 leL;k vkÑfr;k¡

		
		 mÙkj vkÑfr;k¡

		
	 (a)	 (b)	 (c)	 (d)
	 (A)	 (a)	 (B)	 (b)

	 (C)	 (c)	 (D)	 (d)

	 65.	 ;g ykbu xzkiQ Hkkjr esa rhu vyx&vyx 'kgjksa esa gqbZ 
lM+d nq?kZVkvksa dks n'kkZrk gSA ?kfVr nq?kZVukvksa dh la[;k 
dks xzki+Q esa Y v{k n'kkZrk gSA fdl o"kZ esa 'kgj A 
vkSj 'kgj C esa nq?kZUkkvksa ds chp dk varj U;wure gS\
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	 63.	 The following question, contain four problem 
figures and four answer figures marked (a), (b), 
(c), and (d). Select a figure from amongst the 
answer figures which will continue the same series 
as given in the problem figures.

		 Problem Figures

		

		 Answer Figures

		

	 (a)	 (b)	 (c)	 (d)
	 (A)	 (a)	 (B)	 (b)

	 (C)	 (c)	 (D)	 (d)
	 64.	 The following question, contain four problem 

figures and four answer figures marked (a), (b), 
(c), and (d). Select a figure from amongst the 
answer figures which will continue the same series 
as given in the problem figures.

		 Problem Figures

		

		 Answer Figures

		

	 (a)	 (b)	 (c)	 (d)
	 (A)	 (a)	 (B)	 (b)
	 (C)	 (c)	 (D)	 (d)
	 65.	 The line graph shows the road accidents happened 

in three different cities in India. The Y axis in graph 
represents the number of accidents happened. In 
which year, the difference between the accidents 
in City A and City C is minimum?
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	 (A)	 1997	 (B)	 1996

	 (C)	 1995	 (D)	 1994

	 66.	 vLirky esa 8 jksxh gSA 7 lcls gYds jksfx;ksa dk vkSlr 
o”ku 45 fdyksxzke gSA vkSj 7 lcls Hkkjh jksfx;ksa dk 
vkSlr o”ku 52 fdyksxzke gSA lcls Hkkjh vkSj lcls 
gYds jksxh ds o”ku ds chp dk varj fdruk gS\

	 (A)	 47	 (B)	 48

	 (C)	 49	 (D)	 50

	 67.	 ,d ijh{kk esa dqy 25 Nk=k mifLFkr gksrs gSaA mu 25 
Nk=kksa esa jkgqy vkSj eksgu Hkh 'kkfey gSaA jkgqy dk Ldksj 
98 gSA eksgu ds vykok vU; 24 Nk=kksa dk vkSlr Ldksj 
48 gSA lHkh 25 Nk=kksa dk vkSlr Ldksj jkgqy ds NksM+dj 
24 Nk=kksa ds vkSlr Ldksj ls 2 vfèkd gSA eksgu us 
fdruk Ldksj fd;k gS\

	 (A)	 72	 (B)	 86

	 (C)	 98	 (D)	 82

	 68.	 ekrk&firk ds cPpksa dh la[;k m gSA firk] ekrk vkSj 
m cPpksa dh vkSLr vk;q 20 gSA firk dh vk;q 48 o"kZ 
gS] vkSj ekrk vkSj m cPpksa dh vkSlr vk;q 16 gSA 
la[;k m (la[;kRed eku) fdruh gS\

	 (A)	 3	 (B)	 6

	 (C)	 1	 (D)	 2

	 69.	 A dh vk;q B ls nksxquh gS vkSj C dh vk;q A ls rhu 
xquh gSA ;fn A dh vk;q A, B vkSj C rhuksa dh vkSlr 
vk;q ls 2 o"kZ de gS] rks C dh orZeku vk;q] o"kks± esa 
fdruh gS\

	 (A)	 10	 (B)	 9

	 (C)	 8	 (D)	 12

	 70.	 ckjg o"kZ iwoZ firk dh vk;q viuh iq=kh dh vk;q dh 
rhu xquh FkhA ckjg o"kZ ckn firk dh vk;q viuh iq=kh 
dh vk;q ls nksxquh gksxhA mudh orZeku vk;q dk vuqikr 
D;k gS\

	 (A)	 4:7	 (B)	 2:7

	 (C)	 4:3	 (D)	 7:3

	 71.	 ,d ek¡ us vius cPpksa bZ'kku vkSj vuq"dk dh vk;q dk 
;ksx djus vkSj xq.kuiQy ysus dk fu.kZ; fd;k gSA mudh 
vk;q dk ;ksx vkSj xq.kuiQy Øe'k% 18 vkSj 56 gS 
fdl f}?kkr lehdj.k dk gy bZ'kku vkSj vuq"dk dh 
laHkkfor vk;q nsrk gS\

	 (A)	 x2 + 56x – 18 = 0
	 (B)	 x2 – 56x + 18 = 0
	 (C)	 x2 + 18x – 56 = 0

	 (D)	 x2 – 18x + 56 = 0 

	 (A)	 1997	 (B)	 1996
	 (C)	 1995	 (D)	 1994
	 66.	 There are 8 patients in a hospital. The average 

weight of the 7 lightest patients is 45 kgs. and the 
average weight of the 7 heaviest patients is 52 kgs. 
The difference between the weight of the heaviest 
and the lightest patient is

	 (A)	 47	 (B)	 48
	 (C)	 49	 (D)	 50
	 67.	 Total 25 students appear for an examination. Rahul 

and Mohan are among those 25 students. Rahul 
scores 98. The average score of the 24 students 
other than Mohan is 48. The average score of all 
the 25 students is 2 more than the average score 
of 24 students other than Rahul. How much Mohan 
has scored?

	 (A)	 72	 (B)	 86

	 (C)	 98	 (D)	 82
	 68.	 The parents have m number of children. The 

average age of father, mother and m children is 20. 
The father is 48 years old, and the average age of 
mother and m children is 16. The number m 
(numerical value) is

	 (A)	 3	 (B)	 6
	 (C)	 1	 (D)	 2
	 69.	 A is twice as old as B and C is thrice as old as A. 

If A's age is 2 years less than the average age of 
all three A, B and C, then C's present age, in years, 
is

	 (A)	 10	 (B)	 9
	 (C)	 8	 (D)	 12
	 70.	 Twelve years ago, the age of the father was three 

times the age of his daughter. After twelve years, 
father's age will be twice than of his daughter. The 
ratio of their present ages is

	 (A)	 4:7	 (B)	 2:7
	 (C)	 4:3	 (D)	 7:3
	 71.	 A mother has decided to sum and product the ages 

of her children Ishan and Anushka. The sum and 
product of their ages are 18 and 56, respectively. 
The solution of which quadratic equation gives the 
possible ages of Ishan and Anushka?

	 (A)	 x2 + 56x – 18 = 0
	 (B)	 x2 – 56x + 18 = 0
	 (C)	 x2 + 18x – 56 = 0
	 (D)	 x2 – 18x + 56 = 0
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	 72.	 The product of Vidhi's age (in years) three years 
ago and her age five years later from now is 1 more 
than twice her present age. Vidhi's present age (in 
years) is

	 (A)	 4	 (B)	 4
	 (C)	 8	 (D)	 10
	 73.	 X is a% more than Y and Y is b% less than Z. If 

X > 0, Y > 0, Z > 0, and X > Z, the relation between 
a and b is

	 (A)	 100a < b(100–a)	 (B)	 100a > b(100–a)
	 (C)	 100a > b(100+a)	 (D)	 100a < b(100–a)
	 74.	 Mr. Harshal spends 40% of his savings on the 

medical expenses for his wife Mrs. Bhasha. He 
also spends 20% each of the remaining amount on 
his three daughters on their education. From the 
remaining amount, half of it was spent for a family 
trip and the amount remaining in his saving account 
is ` 12,000. How much money did Mr. Harshal 
had initially?

	 (A)	 ` 50,000	 (B)	 ` 1,00,000
	 (C)	 ` 1,50,000	 (D)	 ` 2,00,000
	 75.	 The ratio between the prices of two bicycles is 

15:26. If the price of first is increased by 10% and 
that of second by ̀  550, the ratio between the prices 
is 13:22. What were the initial prices of the two 
bicycles?

	 (A)	 ` 7359 and / `3652
	 (B)	 ` 4290 and / ` 7436
	 (C)	 ` 4719 and / ` 7986
	 (D)	 ` 5629 and / ` 8539
	 76.	 ` 1200 is divided among X, Y and Z such that ` 

30 more than 3/5th of X's share, ` 10 more than 
2/5th of Y's share and ` 20 more than 5/7th of Z's 
share, all are equal. What is Z's share?

	 (A)	 ` 299.698	 (B)	 ` 560.175
	 (C)	 ` 340.116	 (D)	 ` 134.07
	 77.	 Ram and Sham together have ` 285. If 2/3rd of 

money with Ram is equal to 3/5th of money with 
Sham, then what is the money with Ram?

	 (A)	 ` 150	 (B)	 ` 200
	 (C)	 ` 85	 (D)	 ` 135
	 78.	 Two busses are at two different places 76 km apart. 

They start moving towards each other. If their 
speeds are 20 km/hr and 18 km/hr respectively, 
after how much time will they meet each other?

	 (A)	 2 hrs	 (B)	 2 hrs 50 mins
	 (C)	 3 hrs	 (D)	 2 hrs 30 mins

	 72.	 rhu o"kZ igys dh fofèk dh vk;q (o"kks± esa) vkSj vc 
ls ik¡p o"kZ ckn dh mldh vk;q dk xq.kuiQy mldh 
orZeku vk;q ds nksxqus ls 1 vfèkd gSA fofèk dh orZeku 
vk;q (o"kks± esa) fdruh gS\

	 (A)	 4	 (B)	 4

	 (C)	 8	 (D)	 10

	 73.	 X, Y ls a% vfèkd gS vkSj Y, Z ls b% de gSA ;fn 
X > 0, Y > 0, Z > 0 vkSj X > Z, rks a vkSj b ds chp 
D;k lacaèk gS\

	 (A)	 100a < b(100–a)	 (B)	 100a > b(100–a)

	 (C)	 100a > b(100+a)	 (D)	 100a < b(100–a)

	 74.	 eh- g"kZy viuh cpr dk 40% viuh iRuh Jherh 
Hkk"kk ds fpfdRlk ij [kpZ djrs gSaA os 'ks"k jkf'k dk 
20% viuh rhuksa csfV;ksa ds izR;sd dh f'k{kk ij [kpZ 
djrs gSaA 'ks"k jkf'k dk vkèkk Hkkx ,d ikfjokfjd ;k=kk 
ds fy;s [kpZ fd;k vkSj 'ks"k ̀  12,000 jkf'k muds cpr 
[kkrs esa gSA eh- g"kZy ds ikl 'kq: esa fdruh jkf'k Fkh\

	 (A)	 ` 50,000	 (B)	 ` 1,00,000

	 (C)	 ` 1,50,000	 (D)	 ` 2,00,000

	 75.	 nks lkbfdyksa ds ewY;ksa dk vuqikr 15:26 gSA ;fn igyh 
ds ewY; esa 10% dh vkSj nwljh ds ewY; esa ` 550 dh 
o`f¼ dh tkrh gS] rks ewY;ksa ds chp dk vuqikr 13:22 
gks tkrk gSA nksuksa lkbfdyksa dk izkjafHkd ewY; D;k Fkk\

	 (A)	 ` 7359 vkSj ` 3652	 (B)	` 4290 vkSj ̀  7436

	 (C)	 ` 4719 vkSj ` 7986	 (D)	 ` 5629 vkSj ̀  8539

	 76.	 ` 1200 dks X, Y vkSj Z esa bl izdkj foHkkftr fd;k 
tkrk gS fd X ds Hkkx ds 3/5 osa Hkkx ls ` 30 vfèkd 
gS] Y ds Hkkx ds 2/5osa ls ` 10 vfèkd vkSj Z ds Hkkx 
ds 5/7osa Hkkx ls ` 20 vfèkd] lHkh cjkcj gSaA Z dk 
Hkkx fdruk gS\

	 (A)	 ` 299.698	 (B)	 ` 560.175

	 (C)	 ` 340.116	 (D)	 `134.07

	 77.	 jke vkSj 'kke ds ikl dqy feykdj ̀  285 gSaA ;fn jke 
ds ikl èku dk 2/3 'kke ds ikl èku ds 3/5 ds cjkjc 
gS] rks jke ds ikl fdruk èku gS\

	 (A)	 ` 150	 (B)	 ` 200

	 (C)	 ` 85	 (D)	 ` 135

	 78.	 nks clsa 76 fdeh- ij nks vyx&vyx LFkkuksa ij gSA os 
,d nwljs dh vksj c<+us yxrh gSA ;fn mudh xfr 
Øe'k% 20 fdeh izfr ?kaVk vkSj 18 fdeh izfr ?kaVk gS] 
rks os ,d&nwljs ls fdrus le; ckn feysaxh\

	 (A)	 2 ?kaVs	 (B)	2 ?kaVs 50 feuV

	 (C)	 3 ?kaVs	 (D)	 2 ?kaVs 30 feuV
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	 79.	 nks Vªsusa foijhr fn'kk esa py jgh gSaA igyh Vªsu 150 
eh- yach gS vkSj bldh xfr ?kaVk izfr 40 fdeh gS vkSj 
nwljs Vªsu dh yackbZ 170 eh- gSA ;fn os ,d nwljs dks 
4 lsdaM esa ikj djrh gS] rks nwljh Vªsu dh xfr D;k 
gS\

	 (A)	 ?kaVk izfr 248 fdeh	 (B)	?kaVk izfr 320 fdeh

	 (C)	 ?kaVk izfr 100 fdeh	 (D)	 ?kaVk izfr 160 fdeh

	 80.	 ,d vkneh izfrfnu 10 ?kaVs vkjke djrs gq,] 80 fnuksa 
esa 1400 fdeh dh nwjh r; djrk gSA ;fn og izfrfnu 
16 ?kaVs vkjke djrk gS vkSj fiNyh xfr ls 2.5 xquk 
xfr ls pyrk gS] rks og 1000 fdeh dh nwjh fdrus 
fnuksa esa r; djsxk\

	 (A)	 35 fnu

	 (B)	 20 fnu

	 (C)	 40 fnu

	 (D)	 50 fnu

	 81.	 ;fn va'k vkSj gj nksuksa esa 3 tksM+ fn;k tk, rks ,d 
fHkUu 3/5 gks tkrh gSA va'k vkSj gj nksuksa esa ls 5 ?kVkus 
ij ;g 1/2 gks tkrh gSa fHkUu D;k gS\

	 (A)	 21/37
	 (B)	 7/9
	 (C)	 49/67

	 (D)	 9/11

	 82.	 rhu fHkUu gSaA tc lcls cM+h fHkUu dks lcls NksVh 
fHkUu ls foHkkftr fd;k tkrk gS] rks ifj.kke 3/5, 
eè; fHkUu ls 1/3 vfèkd gksrk gSA ;fn 3 fHkUuksa dk 

;ksx 3
2
5
 gSA lcls cM+h vkSj eè; fHkUu ds chp fdruk 

varj gksxk\
	 (A)	 142/13
	 (B)	 109/120
	 (C)	 69/25

	 (D)	 49/40

	 83.	 nks fHkUuksa dk xq.kuiQy 5/4 gS vkSj mudk HkkxiQy 4/20 
gSA ;fn ,d fHkUu dk gj nwljs fHkUu ds gj dk 2/5 
gS] rks nks fHkUuksa dk ;ksx D;k gS\

	 (A)	 3	 (B)	 6/5

	 (C)	 2/3	 (D)	 1

	 84.	 ,d fHkUu ds va'k vkSj gj dk ;ksx gj ds rhu xqus ls 
5 de gSA ;fn va'k vkSj gj esa ls 2 ?kVk fn;k tk,] 
rks va'k gj dk vkèkk gks tkrk gSA fHkUu fuèkkZfjr dhft,A

	 (A)	 4/7	 (B)	 4/3

	 (C)	 5/9	 (D)	 3/4

	 79.	 Two trains are moving in opposite direction. First 
train is 150m long and its speed is 40 km/hr and 
the length of second train is 170m. If they cross 
one another in 4 seconds, what is the speed of the 
second train?

	 (A)	 248 km/hr
	 (B)	 320 km/hr
	 (C)	 100 km/hr
	 (D)	 160 km/hr
	 80.	 A man covers distance of l400km in 80 days resting 

10 hours a day. If he rests 16 hours a day and walks 
at 2.5 times the previous speed, then in how many 
days will he cover 1000 km?

	 (A)	 35 Day

	 (B)	 20 Day

	 (C)	 40 Day

	 (D)	 50 Day
	 81.	 A fraction becomes 3/5, if 3 is added to both 

numerator and denominator. And, it becomes 1/2 
if 5 is subtracted from both numerator and 
denominator. What is the fraction?

	 (A)	 21/37	 (B)	 7/9
	 (C)	 49/67	 (D)	 9/11
	 82.	 There are three fractions. When the largest fraction 

is divided by the smallest fraction, the result 3/5 
is greater than the middle fraction by 1/3. If the 
sum of the 3 fractions is 3 2

5
. What will be the 

difference between the largest and the middle 
fraction?

	 (A)	 142/13
	 (B)	 109/120
	 (C)	 69/25
	 (D)	 49/40 
	 83.	 The product of two fractions is 5/4 and their 

quotient is 4/20. If the denominator of one fraction 
is 2/5 times that of the others fraction, then what 
is the sum of the two fractions

	 (A)	 3	 (B)	 6/5
	 (C)	 2/3	 (D)	 1
	 84.	 The sum of numerator and denominator of a 

fraction is 5 less than thrice the denominator. If the 
numerator and denominator are decreased by 2, 
then the numerator becomes half the denominator. 
Determine the fraction?

	 (A)	 4/7	 (B)	 4/3
	 (C)	 5/9	 (D)	 3/4
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Directions for the following 4(four) questions no. 
85 to 88:

The following 4 questions are based on the 
following passage in English to test the comprehension 
of English Language and therefore these questions do 
not have Hindi Version.

fuEufyf[kr 4 (pkj) iz'uksa'kksa (la 85 ls 88) ds fy;s 
funsZ'k%

fuEufyf[kr 4 iz'uka'k vaxzsth ds fuEufyf[kr ifjPNsn ij 
vkèkkfjr gSa vkSj vaxzsth Hkk"kk ds cksèku ds ijh{k.k ds fy;s gSaA 
vr% bu iz'uka'kksa dk fganh ikB ugha fn;k tk jgk gSA

Scientific studies can remind us of our kinship with 
animals, but on their own they cannot help us understand 
the meaning and importance of that kinship, nor its moral 
and political implications. For this, we need to examine 
our concepts and ideas about animals — a task that 
requires philosophy.

As children grow up, they learn to think in terms of 
a variety of dichotomies, such as man and beast, nature 
and reason. The job of the philosopher, Midgley argued, 
is twofold. A philosopher must examine the way these 
dichotomies work on our imaginations, and affect our 
ways of acting and being; and must articulate, or bring 
forth, new images that will free our imaginations from 
their hold.

Humans do, of course, have exceptional capacities 
that make them different from, and also especially 
dangerous to, other kinds of animals. The idea that 
humans are different must be respected. We are not alone 
in eating other species, or in hunting and hurting them 
for play, as all cat lovers know. But language transforms 
these natural activities and gives us the power to alter 
our environment in ways that go far beyond that of other 
animals.

Elizabeth Anscombe, wrote about the ways in which 
the acquisition of language affects human life. She noted 
that there are some things you can get a person (or indeed 
a dog) to do without language. But if you can get them 
to make a promise or sign a contract — two activities 
reliant on human language — the possibilities for 
involving them in your plans become vast.

Advanced technology, industry, culture and art 
depend on the sorts of cooperation that would be 
impossible without human language. And each of these 
alters the way our natural animal instincts are realised 
in the world. Money, banking, commerce and trade allow 
our animal desire for warmth and shelter to be realised 
through hoarding resources. Territorial instincts, 
common to most animals, are reshaped through property 
rights. We farm at an industrial scale and eat other 
animals not just because we are hungry, but because to 
do so culturally signifies wealth or status.

Though it is our language that makes us the most 
dangerous of all the animals, Midgley thought it was 
nevertheless in language — rather than in science or 
technology — that our environmental salvation must lie. 
In her book Science and Poetrv, she writes about the way 
in which metaphor and metre can return us to our 
childhood perspective — to looking under the fence that 
separates humans from other animals.
	 85.	 Which statement describes the word ‘Dual’?
	 (A)	 The possibilities for involving them in your 

plans become vast
	 (B)	 And each of these alters the way our natural 

animal instincts are realised
	 (C)	 The job of the philosopher, Midgley argued, 

is twofold
	 (D)	 Metaphor and metre can return us to our 

childhood perspective
	 86.	 Find the closest synonym of the underlined word 

from the given sentence: 
		  Scientific studies can remind us of our kinship with 

animals.
	 (A)	 Lineage
	 (B)	 Gregariousness
	 (C)	 Coalition
	 (D)	 Companionship
	 87.	 Identify the verb from the given options based on 

the given sentence.
		  But language transforms these natural activities 

and gives us the power to alter our environment in 
ways that go far beyond that of other animals.

	 (A)	 Activities	 (B)	 Transforms
	 (C)	 Ways	 (D)	 Beyond
	 88.	 Which of the following options best describes the 

given statement?
		  We farm at an industrial scale and eat other animals 

not just because we are hungry, but because to do 
so culturally signifies wealth or status.

	 (A)	 Human beings consume meat in a large scale
	 (B)	 Abundance and prestige drive human beings 

to act independent of their needs
	 (C)	 It is a common practice to eat animals 

whether one is hungry or not
	 (D)	 Most of the farming is done only for 

commercial purpose
Directions for the following 4 (four) question no. 

89 to 92:
The following 4 questions are based on the 

following passage in English to test the comprehension 
on English Language and therefore these question do 
not have Hindi Version.
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fuEufyf[kr 4 (pkj) iz'uksa'kksa (la 89 ls 92) ds fy;s 
funsZ'k%

fuEufyf[kr 4 iz'uka'k vaxzsth ds fuEufyf[kr ifjPNsn ij 
vkèkkfjr gSa vkSj vaxzsth Hkk"kk ds cksèku ds ijh{k.k ds fy;s gSaA 
vr% bu iz'uka'kksa dk fganh ikB ugha fn;k tk jgk gSA

Macbeth is done upon a stronger and more 
systematic principle of contrast than any other of 
Shakespeare’s plays. It moves upon the verge of an abyss 
and is a constant struggle between life and death. The 
action is desperate, and the reaction is dreadful. It is a 
huddling together of fierce extremes, a war of opposite 
natures which of them shall destroy the other. There is 
nothing but what has a violent end or violent beginnings. 
The lights and shades are laid on with a determined hand; 
the transitions from triumph to despair, from the height 
of terror to the repose of death, are sudden and startling; 
every passion brings in its fellow-contrary, and the 
thoughts pitch and jostle against each other as in the 
dark. The whole play is an unruly chaos of strange and 
forbidden things, where the ground rocks under our feet. 
Shakespeare’s genius here took its full swing and trod 
upon the farthest bounds of nature and passion. —
William Hazlitt, Characters of Shakespeare’s Plays 
Macbeth completes William Shakespeare’s great tragic 
quartet while expanding, echoing, and altering key 
elements of Hamlet, Othello, and King Lear into one of 
the most terrifying stage experiences. Like Hamlet, 
Macbeth treats the consequences of regicide, but from 
the perspective of the usurpers, not the dispossessed. 
Like Othello, Macbeth centers its intrigue on the intimate 
relations of husband and wife. Like Lear, Macbeth 
explores female villainy, creating in Lady Macbeth one 
of Shakespeare’s most complex, powerful, and 
frightening woman characters. Different from Hamlet 
and Othello, in which the tragic action is reserved for 
their climaxes and an emphasis on cause over effect, 
Macbeth, like Lear, locates the tragic tipping point at the 
play’s outset to concentrate on inexorable consequences. 
Like Othello, Macbeth, Shakespeare’s shortest tragedy, 
achieves an almost unbearable intensity by eliminating 
subplots, inessential characters, and tonal shifts to focus 
almost exclusively on the crime’s devastating impact on 
husband and wife.

What is singular about Macbeth, compared to the 
other three great Shakespearean tragedies, is its villain-
hero. If Hamlet mainly executes rather than murders, if 
Othello is “more sinned against than sinning,” and if 
Lear is “a very foolish fond old man” buffeted by 
surrounding evil, Macbeth knowingly chooses evil and 
becomes the bloodiest and most dehumanized of 
Shakespeare’s tragic protagonists. Macbeth treats 
coldblooded, premeditated murder from the killer’s 
perspective, anticipating the psychological dissection 
and guilt-ridden expressionism that Feodor Dostoevsky 
will employ in Crime and Punishment.

	 89.	 Which of the following words from the passage 
convey the meaning ‘the action of killing a king’?

	 (A) 	 Regicide	 (B)	 Usurper
	 (C)	 Protagonist	 (D)	 Executes
	 90.	 Match the characters in column 1 with their 

description in column 2
		  Column 1		  Column 2
	 (a)	 Hamlet	 (i)	 Sinner
	 (b)	 Othello	 (ii)	 Coldblooded
	 (c)	 Macbeth	 (iii)	 Foolish
	 (d)	 King Lear	 (iv)	 Executioner
	 (A)	 (a)-(iv), (b)-(iii), (c)-(ii), (D)-(i)
	 (B)	 (a)-(ii), (b)-(iii), (c)-(i), (D)-(iv)
	 (C)	 (a)-(iii), (b)-(ii), (c)-(i), (D)-(iv)
	 (D)	 (a)-(iv), (b)-(i), (c)-(ii), (D)-(iii)
	 91.	 Which of the following inferences can be made 

from the lines ‘What is singular about Macbeth, 
compared to the other three great Shakespearean 
tragedies, is its villain-hero.”

	 (A)	 No kind of comparison is drawn between 
the four tragedies written by Shakespeare.

	 (B)	 Among the four tragedies written by 
Shakespeare, Macbeth is less of a tragedy.

	 (C)	 The protagonists from other tragedies are 
less coldblooded than Macbeth is

	 (D)	 Unlike the villains from other tragedies, 
Macbeth is vengeful and ambitious in his 
plans.

	 92.	 Which of the following statements do NOT find a 
support in the given passage?

	 (A)	 King Lear and Hamlet are longer when 
compared to the tragedy Macbeth

	 (B)	 The climax of the plays Othello and Hamlet 
showcases the element of tragedy

	 (C)	 The contrast element is less in the other 
tragedies than that is seen in Macbeth

	 (D)	 In Macbeth, the reactions are terrible, and 
most actions depict a despair

Directions for the following 4(four) questions no. 
93 to 96:

The following 4 questions are based on the 
following passage in English to test the comprehension 
of English Language and therefore these questions do 
not have Hindi Version.

fuEufyf[kr 4(pkj) iz'uksa'kksa (la 93 ls 96) ds fy;s 
funsZ'k%

fuEufyf[kr 4 iz'uka'k vaxzsth ds fuEufyf[kr ifjPNsn ij 
vkèkkfjr gSa vkSj vaxzsth Hkk"kk ds cksèku ds ijh{k.k ds fy;s gSaA 
vr% bu iz'uka'kksa dk fganh ikB ugha fn;k tk jgk gSA
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India is the second largest producer of fish in the 
world, employing over 14 million people in fishing and 
aquaculture. Increasing pressure on fish stocks, 
overcrowding of boats, pollution, degradation of habitats 
and destructive fishing practices threaten the ecosystem 
and livelihoods of millions. Nearly 70 percent of by-
catch i.e. unwanted fish collected by fishing vessels is 
typically discarded to make way for commercially-
important fish species. However, the ability of our seas 
to replenish depends on the survival of this juvenile fish. 
When traditional diamond-shaped nets are in water, the 
gaps in the nets compress, leaving little room for smaller 
fish to escape. However, the square shaped mesh retains 
its shape in the water and juvenile fish below a certain 
size can escape through the gap in the nets.

The square mesh net was introduced in Sindhudurg 
region through a partnership between the Government 
of Maharashtra and the United Nations Development 
Programme (UNDP) which aims to demonstrate that 
biodiversity conservation of coastal areas and sustainable 
livelihoods can go hand in hand. The partnership is 
supported by the Global Environment Facility (GEF).

The partnership brought in technical expertise from 
the Central Institute of Fisheries Technology, working 
closely with local fisherfolk to introduce the square mesh 
net in the cod end of trawl gears in Sindhudurg. Met with 
initial scepticism in this important fish landing centre, 
the initiative has gone a long way in becoming something 
that fishermen have embraced in their journey to 
sustainable marine fishing. Since 2015, every trawler in 
the district now uses square mesh nets.

The new technology has increased income by INR 
10,000 (US$152) each month because diesel consumption 
has declined. On an average catch of 18 kgs, it is 
estimated that the square mesh allows over 3 kgs of 
juvenile fish and other aquatic mammals to escape, 
important for the survival of the seas. At first, fishermen 
were worried that the new nets would exclude big fish 
and their catch would decline but during the trials they 
saw how it worked. The nets are gaining popularity and 
net makers in the region are now being trained to stich 
square mesh nets for use by fishing trawlers along the 
state. Witnessing the movement underway in Sindhudurg 
where over 300 trawlers have adopted more sustainable 
fishing practices, Maharashtra’s Fisheries Department 
has now issued an order proposing the mandatory use 
of square mesh nets for all 17,000 trawlers in the region.

Fishermen along India’s western coast are now using 
square mesh nets and practicing sustainable marine 
fishing. It is earning them higher incomes, protecting 
marine biodiversity and paving the way for policy change 
in one of the country’s most important fishing coastlines.

	 93	 From the passage  identify  the TRUE and  FALSE 
statements?

	 (a)	 Using square  nets  by fishermen  can curtail 
overfishing.

	 (b)	 The practice of adopting square nets is 
financially sustainable.

	 (c)	 Fishermen were always enthusiastic about 
using square nuts.

	 (d)	 Young fish cannot survive when farmers use 
square nets extensively.

	 (e)	 In the near future, many states are likely to 
insist that fishermen use square nets.

	 (A)	 (a)-(T),  (b)-(T),  (c)-(T), (d)-(F), (e)-(T)
	 (B)	 (a)-(T), (b)-(T), (c)-(F),  (d)-(F), (e)-(F)
	 (C)	 (a)-(F),  (b)-(T),  (c)-(F), (d)-(T), (e)-(T)
	 (D)	 (a)-(T), (b)-(T),  (c)-(F),  (d)-(F), (e)-(T)
	 94	 Which of the following can be inferred from the 

statement “Since 2015, every trawler in the district 
now uses square mesh nets”?

	 (A)	 Fishing has become sustainable in 
Sindhudurg since 2015.

	 (B)	 After 2015 in Sindhudurg farmers were 
allowed to sell only big fish.

	 (C)	 Before 2015 sale of only juvenile fish 
dominated the Sindhudurg fish market.

	 (D)	 There was a very strong movement by 
farmers against square mesh nets in 2015.

	 95.	 Which of the following inferences can be drawn 
based on the lines

		  “The new technology has increased income by INR 
10,000 (US$l 52) each month because diesel 
consumption has declined. On an average catch of 
18 kgs, it is estimated that the square  mesh allows 
over 3 kgs of juvenile fish and other aquatic 
mammals to escape, important for the survival of 
the seas”?

	 (A)	 The new technology adopted is leading to 
the escape of 3 kgs of juvenile fish.

	 (B)	 Square mesh nets are profitable for the 
farmer and his savings will also increase.

	 (C)	 When diesel consumption and juvenile fish 
capture increase, it is unsafe for marine 
biodiversity.

	 (D)	 By adopting square mesh nets all farmers 
will capture at least 21 kgs of fish.

	 96.	 Which of the following sentences from the passage 
holds the word which conveys the meaning “Have 
doubts about the truth of something”?

	 (A)	 Met with initial scepticism in this important 
fish landing centre, the initiative has gone a 
long way.
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	 (B)	 Maharashtra’s Fisheries Department has now 
issued an order proposing the mandatory use 
of square mesh nets

	 (C)	 Biodiversity conservation of coastal areas 
and sustainable livelihoods can go hand in 
hand

	 (D)	 Net makers in the region are now being 
trained to stich square mesh nets

Directions for the following 4(four) questions no. 
97 to 100:

The following 4 questions are based on the 
following passage in English to test the comprehension 
of English Language and therefore these questions do 
not have Hindi Version.

fuEufyf[kr 4(pkj) iz'uksa'kksa (la 97 ls 100) ds fy;s 
funsZ'k%

fuEufyf[kr 4 iz'uka'k vaxzsth ds fuEufyf[kr ifjPNsn ij 
vkèkkfjr gSa vkSj vaxzsth Hkk"kk ds cksèku ds ijh{k.k ds fy;s gSaA 
vr% bu iz'uka'kksa dk fganh ikB ugha fn;k tk jgk gSA

The rich have many assets; the poor have only 
one—their labour. Because good jobs are slow to come 
to the poor, the poor must move to find productive 
employment. Migration is, therefore, the most effective 
way to reduce poverty and share prosperity, the twin 
goals of the World Bank. Not surprisingly, all development 
experiences and growth episodes in history have 
involved a reallocation of labour across space and sectors 
within countries.

According to ‘Moving for Prosperitv: Global 
Migration and Labour Markets’, however, some of the 
biggest gains come from the movement of people 
between countries. Migrants’ incomes increase three to 
six times when they move from lower- to higher-income 
countries. These gains remain largely notional because 
most people cannot move. Only about 3 percent of the 
world’s population live in a country in which they were 
not born, a proportion that has not changed much over 
six decades of otherwise unprecedented global 
integration, via trade, investment, and knowledge flows. 
Distances in space, culture, and language are inherent 
impediments to mobility. The most important barriers 
are, however, national borders.

The gains for immigrants do not come at the expense 
of host countries because the hosts benefit from the 
complementary skills that immigrants bring, or because 
hosts are consumers of the products and services 
immigrants provide. Almost every empirical study finds 
that increased labour mobility leads to large gains for 
the immigrants and positive overall gains for the 
destination country. That creates a puzzle. The 
compelling economic evidence on the economic gains 

and social benefits of migration sits awkwardly with 
stark political opposition to immigration. Respondents 
to political opinion polls rate the arrival of immigrants 
in their countries as among their worst fears. Citizens 
worried about what migrants and refugees would do to 
jobs and wages, welfare programs, crime, schools, and 
their national identity. Frustrated by the public’s 
disregard of their empirical findings, many economists 
attribute political opposition to cultural and social 
factors, including xenophobia.
	 97.	 From the lines “These gains remain largely 

notional because most people cannot move” it can 
be inferred that

	 (A)	 People are made to move to other countries 
against their wishes.

	 (B)	 Theoretically migration is likely to look like 
a boon to many.

	 (C)	 People migrate to another country only with 
the intention of gains.

	 (D)	 Any form of gains for the migrants is only 
temporary and permanent.

	 98.	 The statement from the passage, ’The gains for 
immigrants do not come at the expense of host 
countries.’ means

	 (A)	 The immigrants can make a comfortable 
living only if the host countries agree.

	 (B)	 The immigrants are contributing to the host 
countries and not the other way.

	 (C)	 The host countries do not have to make any 
sacrifices to accommodate immigrants.

	 (D)	 The host countries will have to spend a lot 
of their resources to maintain immigrants.

	 99	 Which of the following words from the last 
sentence in the passage conveys the following 
meaning “Dislike of or prejudice against people 
from other countries”?

	 (A)	 Frustrated	 (B)	 Disregard
	 (C)	 Empirical	 (D)	 Xenophobia
	100.	 Which of the following can be inferred from the 

statement “Because good jobs are slow to come to 
the poor, the poor must move to find productive 
employment”?

	 (A)	 Productive employment is not in the reach 
of the locals from host countries

	 (B)	 Economically sound people have greater 
chances of finding lucrative jobs

	 (C)	 To find profitable employment one should 
not be an immigrant in a host country.

	 (D)	 Poor people have no chance of getting a 
lucrative job in their own country.


